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Question ID:- 519

The following table shows the percentage (%) distribution of total number of students and
total number of girls studying n six colleges A-F. Total number of students and girls studving
in all the colleges together are 60000 and 24000 respectivelv. Based on the data in the table.

answer the guestions 1-5:

College-wise Distribution of Students

College Distribution (%)
Students Girls
(out of 60000) (out of 24000)

A 10% 15%
B 9% 12%
€ 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%

FTATEA At 97 Feiaaeal A-F 0 S9gaa T 1 FE 5 i S F1 Fe 5 #w
o ufaem (%) =9 21 Tl gEigEer § WS S S ST 1 e T e 60000

S 24000 3| A7F F SE F O9R W U -5 % 39 S
H:.]lrdr.nrﬂﬂ—aﬂ Half-ﬁﬁ Edi "l;cﬁfﬂ

Tt 7 (%)
(60000 5 |) (24000 5 =)
A 10% 15%
B 8% 12%
C 28% 15%
D 18% 14%
E 183% 20%
F 24% 21%

The number of girls In College F 1s.......... % more than the number of zirls in College A,




mEfaae™ F O 7=l 1 T Seiaa=d A § @S] 1 e O e miaed ofa® 27

Options:-

.2

Option ID :- 2073,
. 30

Option ID :- 2074,
. 40 ,

Option ID :- 2075,
. a0 ,

Option ID :- 2076,

Answer Given:- 0 , Option ID : -2075

Question ID:- 516

The following table shows the percentage (%) diztribution of total number of students and
total number of girls studying in s1x colleges A-F. Total number of students and girls studsing
in all the colleges together are 60000 and 24000 respectivelv. Based on the data in the table,
answer the guestions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 0% 12%
C 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%

i o T 1 A o o W = o i B 511 o e e o B2 | M L Eot e 1 e 1 e o e ==
AT WA (%) SAT 21 @l HEaEeEl § WSS SEida S0 sl i B 5 FE9: 60000
SR 24000 7| AT & =21 F U T 9T -5 % 390 A

r o r

TElFaeTg a7 (%)
(60000 5 ) (24000 5 =)
A 10% 15%
B 9% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%




The difference between the number of bovs and number of girls studving in College D 1=

TEEEneE D B SEETE WSl il e S S5l F B A At el A ¢

Options:-

. 4040

Option ID :- 2061,
. 4030 ,

Option ID :- 2062,
. 7440

4
Option ID :- 2063,
3360

= ’
Option ID :- 2064,

Answer Given:- 240 , Option ID : -2063

Question ID:- 520

The following table shows the percentage (%) diztribution of total number of students and
total number of girls studying in s1x colleges A-F. Total number of students and girls studsing
in all the colleges together are 60000 and 24000 respectivelv. Based on the data in the table.
answer the guestions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(out of 60000) (out of 24000)

A 10% 15%
B 9% 12%
C Z3% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i T ) TR o o W e = o i B o 511 o e 1 s 2D | = L ot e 1 e 1 e o i ==
AT WA (%) SAT 21 @l HEraEeEl § HSEE [SEida S ST H B 5 FE9: 60000
ST 24000 2| A3 % S % UR W U9 1-5 % 390 A

Is O r
Hell==ed —=W, =A==

TElaaeTg a7 (%)
(60000 5 ) (24000 5 =)
A 10% 15%
B 9% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%

The ratio of the number of bovs in College F with the number of boys in College D is

e F A o i He e D e w3 e e 3

Options:-
. 3L39
Option ID :- 2077,
. 39:31

Option ID :- 2078,

u ’

Option ID :- 2079,
37:29
14
Option ID :- 2080,
Answer Given:-

29:37

, Option ID : -2079

Question ID:- 517

The following table shows the percentage (%) diztribution of total number of students and
total number of girls studying in s1x colleges A-F. Total number of students and girls studsing
in all the colleges together are 60000 and 24000 respectivelv. Based on the data in the table,

answer the guestions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 0% 12%
C 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i T ) TR o o W e = o i B o 511 o e 1 s 2D | = L ot e 1 e 1 e o i ==
AT WA (%) SAT 21 @l HEraEeEl § HSEE [SEida S ST H B 5 FE9: 60000
SR 24000 7| AT & =21 F U T 9T -5 % 390 A

= o o o e | = 1 5 e o 8 T )

TElaaeTg a7 (%)
(60000 5 ) (24000 5 =)
A 10% 15%
B 9% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%

The number of girl students studving in College C as a percentage of the number of boyvs

studyving in College E 1=

wrEiEEeg E O WS9Eaia wSF 1 Al % U9 6 0 0 HnimEneE C ° AT SEie o A

el 27
Options:-
70 %
= ’
Option ID :- 2065,
T8% ,
Option ID :- 2066,
80%
14
Option ID :- 2067,
a0%

Option ID :- 2068,

Answer Given:- 7 , Option ID

1 =2067

Question ID:- 518




The following table shows the percentage (%) diztribution of total number of students and
total number of girls studying in six colleges A-F. Total number of students and girls studving
in all the collezes together are 60000 and 24000 respectivelv. Based on the data in the table.
answer the guestions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(out of 60000) (out of 24000)

A 10% 15%
B 9% 12%
C 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%

L e T e e Tl L MW = o e o 1 e e 2 e o e | M s 3 e 1 M e 2
Ty wieera (%) ol 21 ol mEdamer § ssage i S st 1 Fe e wEe 60000

R 24000 Z| AT % 5121 % TSR 9 U9 1-5 % 39 A
ARl —an. i F1 fHam

EHIFCIEE T (%)
(60000 5 |) (24000 5 =)
A 10% 15%
B 9% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 249 21%

The average of the number of bovs studying in Colleges A. B and C 1s

A B 37 C maiaened § 9999 wis #1 9= W 5iEd A a7

Options:-

. 4000

Option ID :- 2069,

. 4700 ,

Option ID :- 2070,
4400

.Option ID’:- 2071,
4800 ,

Option ID :- 2072,

400

Answer Given:-

, Option ID : -2071

Subject: 11_GP_SH1_Setl_B




Question ID:- 560

The National Education Policy (2020) has recommended the replacement of the UGC by an
umbrella organisation. the Higher Education Commission of India (HECI) wath its four
Verticals. namely-

(A) National Higher Educational Regulatory Council
(B) General Educational Council

(C) Medical Couneil of India

(Dy  National Accreditation Couneil.

(E) Higher Education Grants Couneil.

Choose the most appropriate answer from the options given below :

T T S (2020) 7 3.5 5. w1 TR SA-gs © ulaeatg e H dgeE 7 FE Tm vanaE
=3 v AT (U= S 1L ATE) BT SRR 9T IEE AT e e

(A)  TEE = SEE FEEE G

(B)  AMFE IE0E 9RTg

(C)  OEAE =i 9ims

(D)  TEE TEEES 9

(E) = &7 H5H 1T

1= Tau 0 fageal § 9 9EY I I 6 =594 HA0

Options:-
. .J.L. E_ C_ D Drﬂ_“' '}lai: _.j!... B. C. D

Option ID :- 2237,
B.C.D,EOnly #97 B.C.D.E

u ’

Option ID :- 2238,
AC.D.EOnly Fa79 A C.D.E

u ’

Option ID :- 2239,
A B. D, EOnly a7 A.B.D.E

| | 4
Option ID :- 2240,

ABD EOnly %y .
Answer Given:- ¥ FABDE gotion ID : -2240

14

Question ID:- 559




Given below are two statements ;

Statement I : The National Education Policy 2020 envisages that the extant 10+3
structure 1n School Education will be medified with a new pedagogical
and curricular restructuring of 5+4+443 covering ages 3-18.

Statement IT :  The National Education policy 2020 envisages. that prior to the age of
3 every child will move to a “"Preparatory class” or “Balvatika™, which
haz an ECCE- gualified teacher.

In the light of the above statements. choose the most appropriate answer from the optlons

given below :

fEAFEEr T

FA 1: A T i 2020 T AR R F Ao W 0 awe 1042 T W 9 maeneE win
TS TETEAT % A SIS w318 A 0 544443 T S a4 TE|

e I0: T fore Hifd 2020 F 99w 7 T Wi 99 | B9 96 H W A= OF  oAn w41 we
G |1 iz MM | 0 o e v B S oo 1 2 3 2 ol

I FUA T OAF °, A 50 T e § A HeE I0g 37 1 94T i

Options:-
Both Statement I and Statement 11 are correct T [ 37 [I=F 7= =2

u ’

Option ID :- 2233,

Both Statement I and Statement IT are incorrect Fe 130 ILaF 7= =

Option ID :- 2234,

- ; ) "\ - P et e =
Statement I 12 correct but Statement I1 1s incorrect Fa7 19zt =, = Fa 11770 7
| |

Option ID :- 2235,

Statement I is incorrect but Statement IT 1s eorrect 5 g %
: FF [ 799 2, 99 F2E L TR B

Option ID :- 2236,
Statement I 1= incorrect but Statement IT 1z correct
Answer Given:-

T [ TeA 7, =T Fed [ 7
o K , Option ID : -2236

Question ID:- 541




If the statement ‘All women are honest’ is given as true. which of the following propositions
can be inferred from 1t7

(A) ‘No women 1z honest’ 15 false.
(B ‘Some women are honest 1= true,
(C) ‘Wo women is honest’ 1= undetermined

(D ‘Some women are not honest’ 1s false

Choose the correct answer from the options given below :

TG 9% FYA— A AEEC SHEGE 7 OAE F B9 9 {591 T 7 Al 399 g § 5 R TEsniea 5
A A = T 2T

(&) = i wieen HEEE TE R, e R
(B) F5 uireme sHAR 7, WA

(D) F@ AEAT HERE TE A, T A

fou v faegl § ° 92 390 W =EA i

Options:-
. A B.DOnly Fa4 A, B, D
Option ID :- 2161,

B and D Only Fa5 B 3T D

. r
Option ID :- 2162,

B.CandDOnly #a@B,C.3D
" 4
Option ID :- 2163,

C and D Only e C #i D
" r

Option ID :- 2164,

Answer Given:- & B.DOnly  FFTABD gainn 1D : -2161

Question ID:- 535




Mateh Li=t T with Tist 11 ;

ListI List IT
(Communication context) {Related factor)
{A) Phvsical (I}  Group norms
By Cultural (II} Seguential positioning

{C} Soecial and Psychological | (III) Tangible environment

{D) Temporal (IV) Value system

Choose the correct answer from the options given below :

-1 =9 71 g1 e i

-1 =111
(e TEH ) (T=Tge FF)
(A) i () T A
(B) HEFHTH (D) =T EEafaEm
(C) T 37 A (ITT) 7 T
(D) =l (IV) 53 Tore]
I foo 0 TaeTt © O T8 = F 99 i

Options:-
. {(AJ-(IT). (B)-(IID). (C-(IV). (D)<(T)

Option ID :- 2137,
(A)-(ITT, (By-iIV). (Cy-(I). (D11

Option ID :- 2138,
(A)-(IV). (B)-(I). (C)-(II). (D)-(I11)

u 14
Option ID :- 2139,
. (A)-(Dy, (By-(I1), (C)-(IID), (D-(TV)

Option ID :- 2140,

Answer Given:- (AIIT), (B)-(IV). (Cy-(I). (D)-(1T} , Option ID : -2138

Question ID:- 537

Two numbers are in the ratio of 7:8 . If the difference between the numbers is 30. then find
the numbers.

71 T 7:8 F FAUW § o U 7| Fi% S AWl F wig B F 30 3, 7 @ F 6|
Options:-

215. 245
]

14
Option ID :- 2145,




206. 235
u I4

Option ID :- 2146,

220, 250

Option ID :-’2147,
210, 240 ,
Option ID :- 2148,
Answer Given:- 210-240  option ID : -2148

Question ID:- 543

Which of the logical informal fallacy 1s committed in the following argument “Mr. X used
abusive language toward the child who threw a stone at his car. Since child abuse 1= a crime.

oy

he should be reported to the authorties™

HEATREs 30 9 T Al SHIE o e T A e T 98w F 0 AR 9
TN A, T T F W R TR A 41| g6 A TEER TF ST 7, SHE 36E AW ° Wasn

Options:-

Appeal to Emotion THTE U
. 14
Option ID :- 2169,

Hasty generalisation A= AT
u ’
Option ID :- 2170,

Equivocation TR

14

Option ID :- 2171,

Appeal 1o forece
. L el A=

Option ID :- 2172,

Hasty generabsation Ala=] A=

Answer Given:- , Option ID : -2170

Question ID:- 551

Geothermal field requires combination of following three conditions

(A) A natural underground source of water
(B) A mountain in the vicinity

(C) An impermeable laver

(D) A ccal mine in the vicinity

(E) A large mass of hot rock in the vicimty

Choose the most appropriate answer from the options given helow :




AT &9 F To0 Aeteias d9 sEteiem & gara S sEraEal FE A
(B) == d v TEa

(C) v wdm EaE

(D) T UF FwEel EH

(E) = | 955 79 o

Options:-

_ACEOny FAACIE
Option ID :- 2201,

A C.DOnly FawA CHTD
. ’
Option ID :- 2202,

B.C.DOnly #3aB.C#ED
Option ID :- 2203,

B.D.EOnly == B.D3tE

= ’

Option ID :- 2204,
Answer Given:- €. EOnly et A, CHRE , Option ID : -2201

Question ID:- 533

Human communication involves

(A) Mezsapge transmission

(B) IMeszzage reception

(C) Verbal and non-verbal meszages
(D) Power-packed meszages only

(E) Meszages for non-consumption

Choose the correct answer from the options given below :

il "II-T‘-J"TUT'ET-' iﬁ!aéﬁé

(A)  HEm T

(B)  Hem uEW

(C)  wmfee® =AW —=nfess Hoa

(D) e T OO (WU TEm

(E)  Froswam =g w5

20 70 {9 § O Wal 397 F1 =49 I




Options:-
. A/B.COnly Fa9 A B C
Option ID :- 2129,
B.C.DOnly Fa9B.C.D
Option ID :- 2130,
_ B.D.EOnly Fa B.D. E
Option ID :- 2131,
A C.E Only FaTA.C. E

Option ID :- 2132,

Answer Given:-

A B.COnly Fae A, B. C , Option ID : -2129

Question ID:- 553

Given helow are two statements :

Statement I :  Natural erosion of the soil 13 gradual removal of the top =01l by natural

processes.

Statement II :  Aeccelerated erosion of the sail 1= caused due to man made activities. The

rate of accelerated erosion 1= equal to the rate of soil formation.

In the light of the above statements. choose the correct answer from the options given below :

4= =1 FEE B T

FAL: g AT G-, WHAE A g S g9 H s A 2

T_F'HH H * 'H_?ﬂ 3'_-‘- "_‘:n:"_"r H—E‘TTUT IIHE]FF 1'1;5.:‘ '?.r;”[ﬁ __F, rFI FILI ?_"-1_,—"[ ;;'I'l jf]_,-l,-\.— . '}a-'_pm [ Eﬁ{ ?JT q_—r:-l- 3?:” 7:7 ﬁ,— -Eﬂ:ﬂ:r

7T 2
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Options:-

Both Statement I and Statement IT are true
| |

Option ID :- 2209,

Both Statement I and Statement I are false
Option ID :- 2210,

Statement I 1s true but Statement 11 1s false

Option ID :- 2211,

a7 [ 317 [I5F1 97 &

FoH 190 [ eF] w94 2

#0918 2, =i w99 11 590 7




Statement I 1s false but Statement IT 1= true T 1 3EeT 7, WA w9 I aea =
u 14

Option ID :- 2212,

. Statement I 1s true but Statement II is false
Answer Given:-

T LEE R, AT ILE R g htion ID : -2211

Question ID:- 525

Given bhelow are two statements : One 12 labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Discussion forums are one of the Four Quadrants for MOOC.
Reasons (R) : Discussion forums are in-built feature of learning management systems
(LMS).

In the hight of the above statements. choose the most appropriate answer from the options
given below :

49 71 %2 50 0 E Uk wi9EgA (Assertion (A)) % =9 H feEE 7oAl = 55 A0l (Reasons (R))
FETH

ATIFA (A) S HE G o e AW SqUie 4§ 0 A

9 (R) : T=1 79 9T TEEE O] (TErETE ) B AAEET ST A
I FA F A §, A 5 e § 3 g9E 30 I %1 w9 i
Options:-

. Both (A} and (R) are correct and (R) 1= the correct explanation of (4)
(A) 377 (R) 51 921 2 31 (R), (A) i 781 =wen 2

Option ID :- 2097,
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(A) 91 (R) 5H1 =21 7, @A (R), (A) F1 5971 ===y 471 =
Option ID :- 2098,
. (A) is correct but (R) iz not corvect  (A) T# 2. 7104 (R) 5#l 471 7

Option ID :- 2099,
(A) iz not correct but (R) is corvect (A) 7= 7 7, #FA (R) 791 2

u ’

Option ID :- 2100,

Answer Given:- Both (A} and (R) are correct and (R) 1s the correct explanation of (4)

(A) 3 (R) =F1 |81 & 3R (R), (A) 1 &1 =3m= 2 ]
, Option ID : -2097

Question ID:- 544




Given below are two statements :

Statement T . Amastotelian syllogism regards deduction and induction as inseparably
related.
Statement IT :  The Nyava school of classical Indian philosophy regards deduction and

induetion as two aspects of the same process.

In the light of the above statements. choose the most appropriate answer firom the options

civen below :

FAL: I F I A A S AT R A =9 8 FeEiad 5 2
FeE [ : FA0H 90dE SIFERE S °E AT 3T ST H U Bl 9 6 %1 UM 6 E9 H
A 2|

STF A F A 6, 49 B GEen § ° w6 30 3 F 94 Fian

Options:-

Both Statement I and Statement IT are frue Fi I 3tk 1151 95t 2
u ’

Option ID :- 2173,
Both Statement I and Statement IT are falze w2 1 3 I oMl e 7
Option ID :- 2174,

Statement I is true but Statement IT is false Fua 17w 2, =i %A 07 7

u ’
Option ID :- 2175,
Statement I1s false but Statement II 1s true 2 174 7, W e [LHE 5
' ’
Option ID :- 2176,
Both Statement I and Statement II are true Fi I 3tk 1151 95t 2
Answer Given:- B

Option ID : -2173

Question ID:- 528




Which of the following are sources of data 1n historical research?

(A) Personal ohzervation

(B) Focused group discussion
(C) Oral testimony

D) Relics

(E)  Actuaries

Choose the correct answer from the options given below :
AR S 2 R e € 5w A A AT

= >
(A) T AT

(B)  Ff=d (FFs) T ==

(C)  ditgs &g

D) W ==

"

(E) HIHTFF

R e e e R - e o e e e e e e Lk
Options:-

_ A B. C Only FT7 A B. C

Option ID :- 2109,
B.C.DOnly =a=B.C.D

u 14
Option ID :- 2110,
A C.D Only Fad A, C.D

Option ID :- 2111,
_ C.D.EOnly F97C.D.E

Option ID :- 2112,
F37 C.D. E

Answer Given:- ©: D. E Only , Option ID : -2112

Question ID:- 530

Given below are two statements ;

Statement 1 . Non-probability samples use available respondents and no specific

Selection procedure 1= followed.

Statement IT : It 1z a fact that non-probabilitv samples accurately reflect the

population characteristics.

In the lizht of the above statements. chooze the correct answer from the options ziven helow :




Hr = FEE 5 E

FoA [:  FHGEEAT U9 S9eed SOETaiEl i S9EN FAd 2 A el TG 59 I S A4
T =T 2

Fo I1: 9% UF 929 7 T S3Es1saa) Tidee] ahelg =1 # S9Eeg] F Gehars # gaee Fa) 7

i e b e e o = T B i) i e | B B o e e - e 1 L

Options:-

Both Statement I and Statement I ave true %94 [ 337 II 51 579 .‘=*
u ’

Option ID :- 2117,
Both Statement [ and Statement [T are false sy [ 37w [ == w9 2
Option ID :- 2118,

Statement I iz true but Statement 1T i= false Fe [ O09 2, i F49 11 57073 2

u ’
Option ID :- 2119,

Statement I is false but Statement I is true A 1 375 7, =0 w94 L5 2
u ’

Option ID :- 2120,

. Statement I 15 false but Statement II iz true
Answer Given:-

w4 1 s18ea 2, A e [ o 2 .
, Option ID : -2120

Question ID:- 534

Given below are two statements :

Statement I :  In symbolic communication. power operates through images.
Statement IT :  Such an advantage of exercising power does not exist in other types of
communication.

In the light of the above statements. choose the correct answer from the options given below :




= o1 Y g T

Fa9 1:  TATHESF U9 o, I S1EA1 F 9eAg § 949ned 26 2

FoA I1:  91f TAT 1 SH ST 1 A1 590 F AT THA § (qEEe A ae A

TT FUA F A 9, A G0 T AEed 5 ° = S A i

Options:-

Both Statement I and Statement IT are true F2F [ 3 I oH o7 2
. r

Option ID :- 2133,
Both Statement I and Statement II are false Foq 1 57 D =[ e &

u 14
Option ID :- 2134,
Statement I is true but Statement II is falze 99 [ o979 =, =iad %44 [ 994 7
= ’
Option ID :- 2135,
Statement I 1s false but Statement IT is true F9 [ 99 2. 94 F93 199 2
u I4

Option ID :- 2136,

Statement I i= true but Statement I1 is fal=e
Answer Given:-

#2909 2, wira e I 9979 7

, Option ID : -2135

Question ID:- 558

Which goal of the 2030 Agenda for Sustainable Development adopted by India 1n 2015 seeks
to “ensure Inclusive and equitable guality education and promote hfelong learning
opportunities for all™?

WA ZF1 TF 2015 7 T TA0 @ F O 2030 FEEE w1 ORA W A O o g aw
FEATEER UEAT AT T A ST A AT F A AR 7R 27

Options:-
Goal2  #1%9 2
u ’
Option ID :- 2229,
Goal4 &4

u ’
Option ID :- 2230,
Goal 6 =T 6
u ’
Option ID :- 2231,

Goal 15 15

u ’

Option ID :- 2232,




Goal 4 aed 4

Answer Given:- , Option ID : -2230

Question ID:- 539

At what percent of compound interest per annum. a sum of moneyv will double in 14 vears?

e S U o - fac - 2 = ot P Yo
e Wiaer 1 AE TAghG = W A J TF G-I 14 FW R a7 T R S

Options:-
4%
u 4
Option ID :- 2153,
8%
4
Option ID :- 2154,
6%
u ’
Option ID :- 2155,
. G.6%

14
Option ID :- 2156,
Answer Given:- 9% , Option ID : -2155

Question ID:- 550

Which of the following statements are correct regarding CERT-INT

(A) CERT-IN 1s the national nodal agency for rezponding to computer security incidents
az and when they occur,

(B) CERT-IN is operational since January 2014.

(C) Forecast and alert of evber security ineidents is one of the functions of CERT-IN.

Choose the correct answer from the options given below :

# § AW T-#1F A F Hew ° Feieiigd § 8 w6 ° w9 98 2 7

(A) i 2 wn @ - A T Fege g 5adl 9eATA F 2F W 0ed Ag 5 Aise uadl 7|
(B) H$ #R A - = v F9ad, 2014 9 9=9eH ° 2

(C) == gue FevA 1 YA A 31 T T S Hl 3 AW A~ 0 W F TR A 0

on T T T A I H =S i

Options:-

. ABandC A Bam C
Option ID :- 2197, ’

. AandBOnly FFAAHREB
Option ID :- 2198,




Aand C Only FaA A =7 C
Option ID :- 2199,

Band COnly === B #07 C
Option ID :- 2200,

14

Answer Given:- ~PadC A B#TC option ID : -2197

Question ID:- 524

Which of the following 1= a Group-centered method of teaching-learning?

Frefetas | FE-di G- starm $7 v g agle 27

Options:-
. Providing lecture notes SR A7E TEE A
Option ID :- 2093,
. Team-teaching Fr-Torem
Option ID :- 2094,
. Demonstration method eI Tod
Option ID :- 2095,

Brainstorming [EELS:EE

u ’

Option ID :- 2096,

. Demonstration method f ~
Answer Given:- PR EAGH

, Option ID : -2095

Question ID:- 554

Chlorine in drinking water 1s used for

(A)  Dizinfection

(B) Remowval of hardness
(C) Odor treatment

(D) turbidity control

(E) Removal of iron and manganese

Choose the correct answer from the options given below :




RS e i Cle a e et et B G e o e o )
(A)  TaEwEm

(B)  and S0

(C) g 3=

(I A== =

Options:-

. A C. EOnly Faw A CHE
Option ID :- 2213,

. A B COnly Fam A B3 C
Option ID :- 2214, '

. A D.EOnly e A, D 3t E ’

Option ID :- 2215,

C.D. E Only #ae C. D 3w E
] 14
Option ID :- 2216,

A B COnly FA9AB3RC

Answer Given:- , Option ID : -2214

Question ID:- 540

Find the wrong term in the given series: 6. 11. 18, 27, 34. 51. 66. 83

& e 4EE ° e 9E a9 =EA: 6. 11, 18, 27, 34, 51, 66. 83

Options:-

.34

Option ID :- 2157,
51

= ’

Option ID :- 2158,
a3

= ’

Option ID :- 2159,

. 11,

Option ID :- 2160,
Answer Given:- 2! , Option ID : -2158

Question ID:- 529




Which of the following are the actions of an ethnographic researcher?

(A)
{B)
(C)
i)
(E)

He gets immersed in the Social Setting.

He avoids collecting documents about the group members he is researching upon.
He observes the behaviour of eroup members.

He listens to their conversation.

He does not interview the participants when they are not amenable to observation.

Choose the correct answer from the options given below :

e T e e = e e e o ) 1 e O G- 51 B oo e e e 0 B

{A)
(B)
(C)
(D)
(E)

TF AWEIAF TE B AgE 5 A 2
% 3 THE F A%l AW wEEA  Auen § g9 2, 199 W 98 T = T A A

TF WAL H AR T8 o6l 2, 99 A THEE0 # e 79 1w 2

feu o faFaTl O | HE T W = Fe

Options:-

A B.COnly ¥FAB.C )

Option ID :- 2113,

. A C.DOnly Fam A C. D ,

Option ID :- 2114,
B.C.DOnly Fa9B.C.D ]

Option ID :- 2115,
C.D.EOnly #3=@C.D.E ,

Option ID :- 2116,

Answer Given:-

A.C.DOnly  FHTACD option ID : -2114

Question ID:- 532

The grapevine communication 1s often driven by

FA-TER (T9ETE) TG U S0 G 2 A

Options:-
. External professional agencies TR ST T
4

Option ID :- 2125,

Competing organisations el grE o
u 14
Option ID :- 2126,

Top management of an organisation i E s w5
n




Option ID :- 2127,

Social networks of emplovess FESE] % O 9755 O
" ’
Option ID :- 2128,
. Social networks of employess =TT 5 —F S T
Answer Given:- ploj TS F AENAE A2 o
-2128

, Option ID :

Question ID:- 536

Find the average of the squares of the consecutive odd numbers from 1 to 21.

| § 21 % #r9 wies e et & 9l # shEa S S|

Options:-

. 162

Option ID :- 2141,
159 ,

Option ID :- 2142,
161

u 4
Option ID :- 2143,
. 160

Option ID :- 2144,
Answer Given:- 11 | Option ID : -2143

Question ID:- 548

Which of the following three numbers (A-C) in decimal, octal and hexadecimal notations.
respectively, 1s/are equivalent to (11011001)2 in binary notaticn?

(A @2CID),
iB) {661z
({8} {D9he

Choose the correet answer from the options given below :

ITHEE, AEIEE] ST 9TEE ST 59 § 99 #Ema (A-C) § 9 ®HE-E (g9 99aT § (11011001 )2
F TEE 27

(A (217,
(B) {661)e
(@ (D916

50 7T TFedl ® F HEl 390 B =9 I




Options:-
A Only a9 A

u I4
Option ID :- 2189,

B Only 4+ B
| 14

Option ID :- 2190,
Aand BOnly a7 A B
Option ID :- 2191,

_ Aand C Only Fae A 37 C
4
Option ID :- 2192,
A and C Only e A #6 C

Answer Given:- , Option ID : -2192

Question ID:- 556

Which Educational Institution was the first to start college classes for women?

{5 £ U A= = = 1 o e = | e B ot e e i e O o e e e 2 e e e e 1
Options:-
Central Hindu Girls School T fmg T T

4

Option ID :- 2221,
. Vasanta College =0=1 Fi=id

Option ID :- 2222,
Miranda House o=t 7w
. 4

Option ID :- 2223,
Bethune School for Garls e 2 TFe TN ToH

u ’
Option ID :- 2224,

Miranda House o=t 2w

Answer Given:- , Option ID : -2223

Question ID:- 549
Given below are two statements :

Statement [ :  Cache memory 1z volatile memory and is much slower than Random

Access Memory (RANM)

Statement II :  CDs. DVDs and Magnetic Tapes are all optical media devices.

In the Light of the above statements. choose the correct ansiwver from the options ziven helow :




7= 1 A T T E

FoE 1: o WA UF AR A 2 AT anfees S T (50 T ) 85 F4 90 2

Foe IL:  H1 S1, 2 A 21 S0 e 2w s it e A

I FYA F AR 9, 49 50 T T 5 5 TR I 99 s
Options:-

Both Statement I and Statement I are true o [ 3 11 =41 o3 2
. ’

Option ID :- 2193,
Both Statement [ and Statement IT are false FoA 1 97 [ & 954 7

. ’

Option ID :- 2194,
Statement I 1= true but Statement I 1= false Fo4 1 o1 7, At %9 11 579 2

| |
Option ID :- 2195,
Statement I 1= false but Statement IT 1= true o Isma e g Oax 2
. r

Option ID :- 2196,

Answer Given: Statement I is false but Statement IT is true

F LA E, A FE A= S gption ID : -2196

Question ID:- 531

Communication apprehension 1s often described as

HUYT FEEE WG 0 w9 1 90 761 5

Options:-

Social relativity — SHITAF ATIEAT
" ’

Option ID :- 2121,
Psvcho-zocial barrier T -THT T AT

(.)ption ID :- 2122,

. Social anxiety GlEIES: ol
Option ID :- 2123, ’
. Social ambiguity  HEITTH HETHEAT
Option ID :- 2124, '

Social relativity — SHEIAS ATIHAT

Answer Given:- , Option ID : -2121

Question ID:- 526




Responses to open-ended questions are

Options:-

Quantifiable  TEATTERF (FiizETsE )
| |

Option ID :- 2101,
Realistic TR
Option ID :- 2102,

Subjective —

4

Option ID :- 2103,
Imitative  F=oomeo+

u ’
Option ID :- 2104,
. Subjective o .
Answer Given:- ? THEHEE Option ID : -2103
Question ID:- 523
Match List I with List IT :
List I List IT
(Learning Definitions) {Proponent)
(A) Learning is an organization of behaviour. (I) Gulford
{(B)y Learning 1z the change in behaviour resulting from | (II) Skinner
behaviour.
(C) Learning iz selecting the appropriate response and | (IIT) Garret
connecting with the stimulus.
(D) Learning is a process of progressive behaviour adaption. | (IV) Thorndike

Choose the correct answer from the options given below :

-1 F W9 T geAi-11 T i .

-1 -1
(it =i aframm) (wTe T
(A) wPTH =R T WA & (I) fT=weE
(B) #AT9TH ==EF & IHUTESEEY S9EEN § qiaaT 2 (II) f=Fm
(C) HATTH TS Seawe = =99 F 30 39 39wE 3 wea 2| | (1) e
(D) =ATTE WIS e SHFE $ T U A (IV) 4=t
St fou T fasem § F WA I w99 i
Options:-

(A, (B(II), (C)-(IL). (IH-(TV)
| |




Option ID :- 2089,
{(A-TV), (B)-(II1). (C)-(I1, (D)-(1)

| |
Option ID :- 2090,
. {A){IID). (B)-(IV). (C)(I). (D)L}

Option ID :- 2091,
{A}HIIT, (B)y-(I). (CH-(INV), (D)-(1T)
u ’

Option ID :- 2092,

(A, (B(ITD), (C)-(IT), (D-(TV)

Answer Given:- , Option ID : -2089

Question ID:- 555
Given below are two statements :

Statement [ : Volatile Organic Chemicalz (VOCs) are among the most commonly found

contaminants in ground water,

Statement 11 : The concentration of VOCs in ground water 1s much less compared to

that 1n surface waters.

In the lizht of the above statements. choose the correct ansiver from the options ziven helow

E [ M B 5 e

FoA ;AT S TEEA (), §9 § 90 S S5 G99 S G0 5 J A

Fod IL: == 9 71 F1 FE0 98 A F o1 5 FH FH 7 2

IV YA F AR A, A9 5T e 0 " wE 3 H 99 i
Options:-
Both Statement I and Statement II are true 2 I 5 [ =H 54 7
. r
Option ID :- 2217,
Both Statement I and Statement IT are false o [ 37 M =H 9599 7
. ’

Option ID :- 2218,

Statement I 1s true but Statement 1T 1s false T 1o 2. =9 29 I a1geg 2

] 4
Option ID :- 2219,

Statement I is false but Statement IT is true H9H 1 999 B, oA %ad 159 2
] 14

Option ID :- 2220,




. Both Statement I and Statement I1 are true
Answer Given:-

Option ID : -2217

F2m 1 A7 L5 979 7

Question ID:- 552

Matech List T with List IT :

Last I List IT
(Protoecl/Summit) (Theme)
(A} Paris Agreement (I) Enussions trading
{B) Eyoto Protocol (II) Ozone depletion
(C) Rio declaration (IIT) INDCs
(D) Montreal Protocol (IV) Environment and development

Choose the correct answer from the options given below :

-1 W =1 g1 e =,

-1 T=1-11
(== T ) (=)
(Ay O g () StH39 =Me
(B) 2 FEER (TiEEE) (Il) =7 w354
(C)  Trr zeamoom (I == = = df vy
(D) mi=2gd Fa=n (T2 ) (IV) warE = fa=wm
i P L T T e e o e e S e P e 7
Options:-
(A, (B)-I). (C)-(ID). (D)-(IV) ,
Option ID :- 2205,
. (A)(D). (B)-(ID. (C)-(IV). (D)-(I1I) ,
Option ID :- 2206,
(A)(TITy, (Bi-(I), (C)-(IV), (Dhy-(1D
Option ID :- 2207, ’
(A)-(I). (B)-(II), (C)-(IIT), (D)-(IV) ,

Option ID :- 2208,

Answer Given:- (AYATITY, (By-(I), (C)-(IV). (D)-(IT)

, Option ID : -2207

Question ID:- 521

In order to develop students holistically a teacher should emphasise on

T % 99y =9 9 % e i [9EE 6 FE 0 3 e W O oA S




Options:-

. subject knowledge only Faet [ W T ,
Option ID :- 2081,
. remedial classes for slow learners T ATl F 0 TR S ]
Option ID :- 2082,
explain the concept well TSI T ] -9 ST A

Option ID :- 2083,

outcome based education along with value education
| |

Tl HEH] 9T o ET ST e AT e

Option ID :- 2084,

. outcome based education along with value education
Answer Given:-

el mmefl e o -wr i s .
, Option ID : -2084

Question ID:- 527

Which one of the following 1= a tool of grounded theory?
AT THgA 1 Feianga § 3 S| 9 (7)) 2

Options:-

. Constant comparison a1 DGkl
Option ID :- 2105,
. Auditing T T
Option ID :- 2106,

Deconstruction of narratives  wpeami =1 TaAmFm (=F==awH)
| | \ = ’

Option ID :- 2107,

o _ gl ? s
Usze of unermtical language AFFETHF | ARSI J1E = 39p

Option ID :- 2108,

4

14

4

Answer Given:- Constant comparison  Hiat gel , Option ID : -2105

Question ID:- 545

In Nvaya Syvllogism all the three terms stand synthesized in which of the following steps of
the inferential process?

=79 ATF A AN TR e 3§ R w0 E g9 A 9E GieE 5 27

Options:-

Example (Udaharana) T
u 4

Option ID :- 2177,




Conclusion (Nigamana) o (Fm)

" 4
Option ID :- 2178,
Application (Upanayva) EEEE

Option ID :- 2179,

. Reaszon (hetu) ed

Option ID :- 2180,

3
Answer Given:- Beason (hetu) -, Option ID : -2180

Question ID:- 546

Which Indian Act makes 1t 1llegal to knowingly spread a computer virus?

(i E e n R B A B e DI B I e 2o Ao Gl o B T 11 e 7 e 1 e o et

Options:-
_ Data protection and Security Act. 1997 ST T F grET AgiEE, 1997

Option ID :- 2181,

Information Security Act. 1903 AT HEA ST, 1998
u 14
Option ID :- 2182,
. Information Technology Act. 2000 AT TR AT, 2000
4

Option ID :- 2183,
. Computer Misuse and Cyhber Act, 2009 e SR R Afafas, 2009 ]
Option ID :- 2184,
Answer Given:- Information Technology Act. 2000 =41 TR ATaEEE, 2000 ]
Option ID : -2183
Question ID:- 542

Given below are two statements :

Statement I :  Ta form the contrapositive of a given proposition. we replace 1ts subject

term with the complement of its predicate term. and we replace 1ts

predicate term with the complement of 1ts subject term.

Statement IT : All contra positions are valid.

In the light of the above statements. choose the correct answer from the options given below :




4= 71 FoH 2o 0 E

FHI: 7 UE A T UASH 1 NEEeF S kAU 36 @9 9 R I9F =4 T % TS A

e FE § A, 79 T AU us W 39 A 0 F T d e w1
Fq I1: A4 Tiaaqs 99 7

e T i i 0 e =1 o =P | 1 e L o e e B - o e e - e e o L

Options:-

Both Statement I and Statement II are true w9 1 37 [ =49 59 7
. r

Option ID :- 2165,

Both Statement I and Statement II are false FoE 1517 [ e 9 2
" ’

Option ID :- 2166,

Statement I is true but Statement IT is false 997 150 2, 994 F49 I 5594 =
. ’

Option ID :- 2167,

- o - : S s
Statement I 1= falze but Statement IT is true F2A 1 75 7, =i w2 L aca v
. ’

Option ID :- 2168,

. Statement I is true but Statement II 1s false
Answer Given:-

U 1|0 7, i o 1 e 7 .
, Option ID : -2167

Question ID:- 522

S

Which of the following levels of Bloom's taxonomy 1s achieved by rote learning

T2 F ATTH T T 8 9 wE % D S e -d1 S 0 R A AT

Options:-

, Remembering FHIO AT ,
Option ID :- 2085,

. Applying T A ]

Option ID :- 2086,
Analysing  =verm F0

= ’

Option ID :- 2087,
Understanding 5531

= ’

Option ID :- 2088,

Answer Given:- Remembering el Option ID : -2085




Question ID:- 547

Consider the following worksheet:

A B C D
1 b 10 | 50
2 15 | 50
3 20 | 50
=

Which of the following formula should be entered into the cell D1 so that when it 1= copied
into the cells D2 and D3. 1t gives the correct values as shown 1n the range D1:D37

A | B C D
1 5] 10 | 20
2 15 | B0
3 20 | 30
-

#gF D1 ° 75 5§ FH 91 9 TEE A S G o weE D2 3 D3 sad w o we @ D1D3
1 73 | 790 FTEE TE g7 IE 77

Options:-

. B1 = 3C&1 ,
Option ID :- 2185,
B3l * (1 ,
Option ID :- 2186,

. Bl*C1
Option ID :- 2187,
3B31 * 3C31

u ’
Option ID :- 2188,

Bl = 3C31

Answer Given:- , Option ID : -2185

Question ID:- 557

Indira Gandhi National Open University was established in the vear




r o

Options:-
L1975
Option ID :- 2225,
1950
14
Option ID :- 2226,
1085
= ’
Option ID :- 2227,
. 2000
Option ID :- 2228,
Answer Given:- -°°°  Option ID : -2227

Question ID:- 538

Two Shopkeepers ‘A" amd B sell certain kind of machines at the same list price. However.
shopkeeper "A" allows two successive discounts of 20% and 15% and shopkeeper ‘B’ allows two
successive discounts of 10% and 25% . Which of the following statements 1s correct?

‘A’ i B A gFEER FivEa T 59 w0 #eE g ged W osE A | TR i, gEeer AT 20% AR
15% 1 21 HIFE F2 oA 2 30 gEEan B 10% 3 25% 1 91 FEaw g2 o 2| Aot w8
I == R

Options:-

'A” offers more dizeount ‘A’ gt ET T E
" ’
Option ID :- 2149,

‘B’ offers more dizcount ‘B’ wiftaF =l AT E
" ’
Option ID :- 2150,

Both "A’ and ‘B’ offers same discount A" #1 B HEE 2 9 7
. r

Option ID :- 2151,
‘A" offers 35% discount and ‘B’ offers 30% discount A 35% T2 51 7 @7 B 30% g2 3AT E

u ’
Option ID :- 2152,

. Both "A’ and "B’ offers same discount ‘A’ =1 B HHAE 92 o3 .
Answer Given:- , Option
ID : -2151

Subject: 11_GP_SH1_Setl_C

Question ID:- 561




Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spoken
by a small minority. such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors, who became a ruling and landed ehite. would be used In commerce.
administration and law., During the era of imperialism, the languages of colonial powers
hecame the languages of administration. codified laws. higher education. science and
technology 1n their own colonies. Thiz held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are syvmbols of human experience. Perceptions underlving them have undersone
change over time and in response to new situations. Moreover. all languages are 1n a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments 1n thought and knowledge. in productive techniques. in social relationships. in
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: speciahized technical terms pass into general usage. And new words are
mvented. The process reminds us that language 13 not a corpus of learming, but an
mmstrument adapted to human purposes.

Trefertias memer =1 algw s 99T T 4650 F I Aa-

G H {agar I, AEEE- AT H AT SR ATSE h 9 S R A, | o e s
T ST A, G IR R 9T o S e i, wened S fEte Jesieaa e 9 w5
o1} HETEAE % 1 W SR oA AT A 3 a8 6 v, SEdms w5, 3= e,
T ST AFATES F A w1 S I ] ST W G SEes 7 T S 39 & T S 18
e SR AEE F FD S8 6, AT T 7 AU A6 S S, Giea et 8 39 o a6
Tafa =AW 77 B TEH @ U # A SR TSl 5E % A 7 W, 3eeEw serd ' Sl w, Eeee
ufr=wl aThER 3T i A A 9 fabw fae i i adEe 0 = R T oee - &
T B Bl S SRR A9 AHG F @Y S 9 i # e F s afEta m #) @y f g
A0 U qEAS F1 SEedl Tl TEAl 2, wE 91 a9 91w 4@ 7E 9] 9 @ew 560 79 F w7 A,
IAGE TEATR H, HENAE el §, WEAfah E9R eE e 2 FF 9 9 9 39d 6

AETIFAIA *F U § RS B Pl SHEC 9 A9 A8 SRed 7 AN 90 SEuEr sTEa #d B
TS FFAT A AT TR T A 8| 3R, 9 9w SEved 7 7| 9% UGRA B T

Ly "~

Tl 7 1% s wfam 1 50w 96 T4 2 Siew aEdE T o dTFE 5 JiE U S0 3|

Historically, minority languages were the basis of

Options:-
. Medieval culture  HEIFH HEHN




Option ID :- 2241,

Cultural independence =R+ a1
n - ’

Option ID :- 2242,

Scholarship [
=t

u 14
Option ID :- 2243,
Religious harmeny  €TH= HiFR

= ’

Option ID :- 2244,

Religious he - HIHE HiEn )
Answer Given:- oot HATHONT , Option ID : -2244

Question ID:- 564

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spoken
by a small minorty, such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors, who became a ruling and landed ehte. would be used in commerce.
administration and law. During the era of imperialism. the languages of colonial powers
hecame the languages of administration. codified laws. higher education. science and
techneology 1n their own colonies. Thiz held back the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position 1n some of the now independent nations of Asia and Afrea, This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are syvmbols of human experience. Perceptions underlving them have undersone
change over time and in response to new situations. Moreover. all languages are 1n a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigues. in social relationships. in
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: speciahzed technical terms pass mmto general usage. And new words are
mvented. The process reminds us that language 13 not a corpus of learning, but an
mstrument adapted to human purposes.




TeTiettas e 1 GiRn 57 ueT S 46-50 % I A

G H {agar I, AEEE- AT H AT SR ATSE h 9 S R A, | o e s
GEE ST A A, g e TR 9T ST S, WO S g Jesiead e 9 5
o1} HETEAE % 1 W SR oA AT A 3 a8 6 v, SEdms w5, 3= e,
T ST AFATES F A w1 S I ] ST W G SEes 7 T S 39 & T S 18
e SR AEER F FS S °, | Ag Tad 7 AU A S S, =i st 8 69 6 a6
afa o 7o #| T o e s S ugndl g % @ A i, @ Serw @ Al A, fEee
ufradt e AT HEEE A A 1 fabm el ot i adeEm 3 m=Ee g R T mea -
THIE B Rl S AR A9 ARG F @Y A0 9 Rl 8 uihawea F wnn afEta 5 F ) @ f g
I U qEAT e ¥ TRl 2, A4 U T @ wd S e 9 9 fEEe s ae % a9 A,
IEF TFATHE H, THENAE Sl H, A G oYE S § FF A O | 309 A8

WETTFAS F UeAT U (REG B 2| SHEU 9E AN 34 §99eid 2 S0 0 S99 s1iEe e R

] Lo .l - - _-.- : - . & . 33
T AR ST W IO 0 A AW A W, 90 9 diEeea B Al 9% WA BH T
TeeTTdl # T | A =60 dus 51 95 7 afeh e e F A9E 51 G UF S0 7|

One of the characterstics of languages 1s

GTIES =l TR AT B

Options:-
Constant change in meanings of words A e R e [Tl LT

= ’

Option ID :- 2253,
Subjection to different alien powers. fafum faeeft st 1 svediam

Option ID :- 2254,
The ability to survive against heavy odds. T9a gifEiaal & e 9 ITEE T 994 i a9

14
Option ID :- 2255,
Their monopoly by the elites,  AFTE g1 39 T THIGFR

u 4
Option ID :- 2256,
Answer Given:- Suhjection to different alien powers. fafuz feeft sl 1 svediam
. 14
Option ID : -2254

Question ID:- 562




Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spoken
by a small minority. such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors, who became a ruling and landed ehite. would be used In commerce.
administration and law., During the era of imperialism, the languages of colonial powers
hecame the languages of administration. codified laws. higher education. science and
technology 1n their own colonies. Thiz held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are syvmbols of human experience. Perceptions underlving them have undersone
change over time and in response to new situations. Moreover. all languages are 1n a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments 1n thought and knowledge. in productive techniques. in social relationships. in
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: speciahized technical terms pass into general usage. And new words are
mvented. The process reminds us that language 13 not a corpus of learming, but an
mmstrument adapted to human purposes.

Trefertias memer =1 algw s 99T T 4650 F I Aa-

G H {agar I, AEEE- AT H AT SR ATSE h 9 S R A, | o e s
T ST A, G IR R 9T o S e i, wened S fEte Jesieaa e 9 w5
o1} HETEAE % 1 W SR oA AT A 3 a8 6 v, SEdms w5, 3= e,
T ST AFATES F A w1 S I ] ST W G SEes 7 T S 39 & T S 18
e SR AEE F FD S8 6, AT T 7 AU A6 S S, Giea et 8 39 o a6
Tafa =AW 77 B TEH @ U # A SR TSl 5E % A 7 W, 3eeEw serd ' Sl w, Eeee
ufr=wl aThER 3T i A A 9 fabw fae i i adEe 0 = R T oee - &
T B Bl S SRR A9 AHG F @Y S 9 i # e F s afEta m #) @y f g
A0 U qEAS F1 SEedl Tl TEAl 2, wE 91 a9 91w 4@ 7E 9] 9 @ew 560 79 F w7 A,
IAGE TEATR H, HENAE el §, WEAfah E9R eE e 2 FF 9 9 9 39d 6

AETIFAIA *F U § RS B Pl SHEC 9 A9 A8 SRed 7 AN 90 SEuEr sTEa #d B
TS FFAT A AT TR T A 8| 3R, 9 9w SEved 7 7| 9% UGRA B T

Ly "~

Tl 7 1% s wfam 1 50w 96 T4 2 Siew aEdE T o dTFE 5 JiE U S0 3|

The language of the conguerors was used in
Tarstanl S |9 I e E w9

Options:-
. Ruling over landed elite "‘P;-Wﬁ ATGATA 9 WEA FAA o




Option ID :- 2245,

. The adminmistration of law FA F TOTEA ° ]
Option ID :- 2246,
Colonising the other countries TH T 1 SAAERE w6 o

|
Option ID :- 2247,
Creating social inclusiveness TTHTAF TEEE FH F e

Option ID :- 2248, ) B
Answer Given:- Iheadministration of law P FEET R Option ID : -2246

Question ID:- 565

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status mtroduced by religious leaders, scholars.
oI conguerors. Sometimes they became the basis of power and privilege. A language spoken
by a small minority. such as Latin in Aedieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguercrs. who became a ruling and landed ehte. would be used in ecommerce.
administration and law. During the era of imperialism, the languages of colonial powers
hecame the languages of administration. codified laws. hirher education. science and
technology in their own colonies. Thiz held back the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position 1n some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symbols of human experience. Perceptions underlying them have underszone
change over time and In response to new situations. Moreover. all lansuages are 1n a state of
change somenimes gradual. sometimes rapld. Thev respond to new needs arising from
developments in thought and knowledge. 1n productive technigues. in social relationships. 1n
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: specialized technical terms pass Into general usage. And new words are
mvented. The process reminds us that language 1s not a corpus of learning, but an
mstrument adapted to human purposes.




Tt TTEITeT 4 Ui S 9T WA 46-50 F I G-

G H {agar I, AEEE- AT H AT SR ATSE h 9 S R A, | o e s
Tl AT = A, g uEntE R am o A e i, e si Ete geefa FweE a e
o1} HETEAE % 1 W SR oA AT A 3 a8 6 v, SEdms w5, 3= e,
T 37 AFATE AT =1 S I T ST S e 7 T A 5 A O e 18 TR
e SR AEER F FS S °, | Ag Tad 7 AU A S S, =i st 8 69 6 a6
afa o 7o #| T o e s S ugndl g % @ A i, @ Serw @ Al A, fEee
ufradt e AT HEEE A A 1 fabm el ot i adeEm 3 m=Ee g R T mea -
T B | S s S A F A AR 95 fEfaal # aiatea # wm ket F ) @ f oA
I U qEAT e ¥ TRl 2, A4 U T @ wd S e 9 9 fEEe s ae % a9 A,
IFTEE AEAE H, WHENEE SEed] H, EAE G =19 A B owE a JEE | 3 98

AETFEAIA F UCAT B [PREE B #| SHIAU 9 AU 378 §geE 2 SN AU AN #iE8 #d 8|

] FoRr o s N r i z 1 i TR 3 i
T AR ST W IO 0 A AW A W, 90 9 diEeea B Al 9% WA BH T
TeeTTdl # T | A =60 dus 51 95 7 afeh e e F A9E 51 G UF S0 7|

The pazsage analvses languagez az a

TE T G AT e = g e 2

Options:-

Corpus of learning AT
Option ID :- 2257,
. Symbol of State power TI-FA1 F T
Option ID :- 2258,
. Tool to meet human purposes AT T F ol S T TTR
Option ID :- 2259,

Formal link between old and new generations. T 72 fiEl F A A i w5

Option ID :- 2260,
Answer Given:- Tool to meet human purposes T T F el ST S TR
ID : -2259

, Option

Question ID:- 563




Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spoken
by a small minority. such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors, who became a ruling and landed ehite. would be used In commerce.
administration and law., During the era of imperialism, the languages of colonial powers
hecame the languages of administration. codified laws. higher education. science and
technology 1n their own colonies. Thiz held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are syvmbols of human experience. Perceptions underlving them have undersone
change over time and in response to new situations. Moreover. all languages are 1n a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments 1n thought and knowledge. in productive techniques. in social relationships. in
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: speciahized technical terms pass into general usage. And new words are
mvented. The process reminds us that language 13 not a corpus of learming, but an
mmstrument adapted to human purposes.

Trefertias e 1 ulgw s 9w T 4650 F I AHa-

T H {Fgar i, AT - AT H AT SR ST R 9 S R A, | oF e A
T ST A, G IR R 9T o S e i, wened S fEte Jesieaa e 9 w5
o1} HETEAE % 1 W SR oA AT A 3 a8 6 v, SEdms w5, 3= e,
T ST AFATES F A w1 S I ] ST W G SEes 7 T S 39 & T S 18
e SR AEE F FD S8 6, AT T 7 AU A6 S S, Giea et 8 39 o a6
Tafa =AW 77 B TEH @ U # A SR TSl 5E % A 7 W, 3eeEw serd ' Sl w, Eeee
ufr=wl aThER 3T i A A 9 fabw fae i i adEe 0 = R T oee - &
T B R | S SAAH(EA A9 AHG F @Y S0 9 i # e F s afEta m F) @y f g
A0 U qEAS F1 SEedl Tl TEAl 2, wE 91 a9 91w 4@ 7E 9] 9 @ew 560 79 F w7 A,
IAGE TEATR H, HENAE el §, WEAfah E9R eE e 2 FF 9 9 9 39d 6

AETIFAIA *F U § RS B Pl SHEC 9 A9 A8 SRed 7 AN 90 SEuEr sTEa #d B
TS FFAT A AT TR T A 8| 3R, 9 9w SEved 7 7| 9% UGRA B T

Ly "~

Tl 7 1% s wfam 1 50w 96 T4 2 Siew aEdE T o dTFE 5 JiE U S0 3|

Imperialism was responsible for

AETEER A ERE F A SEE g-
Options:-
Codification of law T FATHG FA % e




Option ID :- 2249,
Racial equity T THAT
Option ID :- 2250,
. Primaey of local lansuages =2 Oraray) =51 WET=d
Option ID :- 2251,
Exclusion of old languages T-Fﬁ HAT A HET

u ’

Option ID :- 2252,

Answer Given:- Codification of law L Oledsg 5 e

-2249

, Option ID :

Subject : 87_PART_A_Setl1

Question ID:- 325

Conaider the primal problem :
Maximize z =bxy +12x, +4x-

Subject to x; + 2x. + x5, =10
20y — x5 +3x; =8
Tp.Xe.x: 20
it dual problem 1s
Minimize w =10y, + 8y
Subject to 3, +2v, 25
2y, —¥.=12

¥ +3y. 24

Which of the following is correct?

Options:-
vy 20, vy, unrestricted
u ’

Option ID :- 1297,

¥4+20, ¥520

Option ID :- 1298,

¥,1s unrestricted, y, 20
] 4

Option ID :- 1299,
y,1s unrestricted, y, restricted
Option ID :- 1300,

vy 20, ¥, 20

Answer Given:- " * ' , Option ID : -1298

Question ID:- 323

The total storage capacity of a floppy dizk having 80 tracks and storing 128 bytes/sector 1s

163.840 bytes. How many sectors does this disk have?




Options:-
97

14
Option ID :- 1289,
2048

14

Option ID :- 1290,
4K

4
Option ID :- 1291,
16

. ’
Option ID :- 1292,
4K
Answer Given:- : , Option ID : -1291

Question ID:- 400

Given below are two statements : one 1 labelled as Assertion (A) and the other 1= labelled as
Reazon (R) :

Asgertion (A): P
Reason (R) : [r =gq.,rvs, s —>q,p—q)

In the light of the above statements, chooze the correct answer from the options given below :

Options:-
. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

Option ID :- 1597,
. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

Option ID :- 1598,
(A} 18 true but (R) 1s falze

Option ID :- 1599,

(A) 1s falze but (R) 1s true
[ ] 4

Option ID :- 1600,

4

14

14

Answer Given:- Both (A) and (R) are true and (R) 1s the correct explanation of (A) , Option ID

: -1597

Question ID:- 371

Consider the properties of recursively enumerable sets :

(A Finiteness
(B) Context Freedom
() Emptiness

Which of the following 1z true?

Options:-
Onlv (A) and (B) are not decidable

u ’




Option ID :- 1481,
Only (B) and (C) are not decidable

] 14
Option ID :- 1482,
Only (C) and (A) are not decidable

u ’

Option ID :- 1483,
All (A). (B) and (C) are not decidable

u ’

Option ID :- 1484,

Answer Given:-

Only (C) and (A) are not decidable , Option ID : -1483

Question ID:- 395

A top down approach to programming calls for ;

Statement I : Working from the general to the specific.
Statement 11 ; Postpone the minor decisions.
Statement III: A systematic approach.

Statement IV :  Intermediate coding of the problem

Which of the following 1s true?

Options:-

Statement I only
| |

4
Option ID :- 1577,

Btatement I and Statement IT only
4

Option ID :- 1578,

Statement I, Statement I and Statement 111 only
n ’

Option ID :- 1579,

Statement I, Statement I and Statement IV only
u ’
Option ID :- 1580,
. Statement I, Statement II and Statement III only
Answer Given:-

, Option ID : -1579

Question ID:- 402




Given below are two statements : one is labelled as Assertion (A} and the other 1= labelled as
Heazon (R) :

Aszzertion (A): A load-and-go assembler avoids the overhead of writing the object program
out and reading 1t back in.

Reason (R) : Thiz can be done with either one-pass ar two pass assembler,

In the licht of the above statements, choose the correct answer from the options given below !

Options:-
, both (A) and (R) are true and (R) 1s the correct explanation of (A)

Option ID :- 1605,

Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
u 4

Option ID :- 1606,
L@ is true but (R) 1= falze ,

Option ID :- 1607,

(A) is false but (R) 1= true
u ’

Option ID :- 1608,
Answer Given:- (V) 1struebut (R)isfalse gption ID : -1607

4

Question ID:- 379

Let e=0.0005. and Let Re be the velation '{l.r,}' Je R® : |.J.' —_‘.'|«.1—.:='= Re could be mterpreted as
the relation approximately eqgual. Re is

{A) Reflexive
(B) Symmetric
(C) transitive

Choose the correct answer from the options given helow :

Options:-
. (A) and (B) only true

Option ID :- 1513,
(B) and (C) only true

Option ID :- 1514,

(A) and (C) only true
u ’

Option ID :- 1515,
(A), (B) and (C) true
4
Option ID :- 1516,
{A) and (C) only true

14

14

Answer Given:- , Option ID : -1515

Question ID:- 365




Consider the following two hists

List I List IT
(A) Stack overflow (Iy Software Interrupt
(B) Timer (I} Internal interrupt
(C) Invalid opcode (III) External interrupt
(D) Superior call (IV) Machine check interrupt

Which of the following is correct match ?

Options:-

(A)-(T). (B)-(I1), (C)-(III). (D} -(IV)

4

Option ID :- 1457,

(A)-(II), (B)-(I1I). (C)-(I). (D)-(IV)
r

Option ID :- 1458,

(AL, (By-(I0), (C)-(IV), (D)-(11T}

4

Option ID :- 1459,

(A)-(IT), (B)-(IIL), (C)-(IV). (D)-(T)

14

Option ID :- 1460,

Answer Given:-

(A)-(IT), (B)-(I1T), (Cy-(IV), (D)-(I)

Question ID:- 338

What 1= called Journalling in Linux operating system?

Options:-

Process scheduling

4
Option ID :- 1349,

File saving as transaction
14

Option ID :- 1350,

A tvpe of thread

4
Option ID :- 1351,

A editor
4

Option ID :- 1352,

Answer Given:-

Process scheduling , Option ID : -1349

Question ID:- 368

For the following page reference string 4, 3. 2, 1. 4, 3, 5. 4. 3, 2. 1. 5. the number of page
faults that occur in Least Recently Used (LRU) page replacement algorithm with frame size

Jis

Options:-

6

14

, Option ID : -1460




Option ID :

=

1469,

u ’
Option ID :
10

u ’
Option ID :
12

4
Option ID :- 1472,
Answer Given:- 5, Option ID : -1470

1470,

1471,

Question ID:- 370

Consider two histz A and B of three strings on 10, 1}

List A|List B

s 1 111
10111 10

10 0

List A | List B

- 10 101
' 011 11
101 011

Which of the following 1s true?

Options:-

« Only PCP in X has solution. |

Option ID :- 1477,

» Only PCPin Y has solution. |

Option ID :- 1478,

, PCPin both X and Y has =clution. ,

Option ID :- 1479,

» PCP neither in X nor in Y has solution. |

Option ID :- 1480,

Answer Given:- PCP in both X and Y has zsclution. , Option ID : -1479

Question ID:- 399

A zood zoftware requirement specification does NOT have the characteristic

Options:-
Completeness

u ’

Option ID :- 1593,

. Consistency

Option ID :- 1594,

Clarity
u ’




Option ID :- 1595,
Reliability
u ’
Option ID :- 1596,
Answer Given:- B3P guotion ID : -1596

Question ID:- 372

Con=ider the following !

Tist1 Last IT
(A) Aectivation record (I) Linking Loader
(B) Location counter (II) Garbage Collection
(C) Reference count (ITI) Subroutine Call
(D) Address relocation (IV) Assembler

Which of the following 1z correct matching 7

Options:-
. (A)IID, (B)-(IV). (C)-(I). (D)~(II)

Option ID :- 1485,
(A)-(TV). (B)-(IIT), (Cy-(1), (D)-(I1)

Option ID :- 1486,
(A)-(IV). (B)-(I1I), (C)-(II), (D)-(I)

" ’
Option ID :- 1487,
(A)-(IT), (B)-(I1L). (C)-(I), (I)-(IV)

u 14

Option ID :- 1488,
Answer Given:- (A)-(IV). (B)-(1II). (Cy-(I). (D)-(II) , Option ID : -1486

14

Question ID:- 317

There are three boxes, First box has 2 white, 3 black and 4 red balls. Second box has 3 whate,
2 black and 2 red balls. Third box has 4 white. 1 black and 3 red balls. A box 1s chosen at
random and 2 balls are drawn out of which 1 1s white, and 1 1z red. What 1= the probability
that the balls came from first box?

Options:-

. 0237

Option ID :- 1265,
0.723

= 14

Option ID :- 1266,
0.18

u ’

Option ID :- 1267,
0.452 ,

Option ID :- 1268,

&

0.18
Answer Given:- , Option ID : -1267




Question ID:- 357

Assume that [ (n) and gin) are asymptotically positive. Which of the following is correct?

Options:-
Ffln)=0(gln)) and gln)=0(kn))= fin)=wlhin))

u ’

Option ID :- 1425,
fin)=0lg(n)) and g(n)=0lkin))= fln)=0{h{n))

14
Option ID :- 1426,
fn)=eolgln)) and gln)=olliln))= Ffln)=o(hin))
Option ID :- 1427,
fln)=wlg(n)) and gin)=wlhin))=f{n)=0lh(n))

Option ID :- 1428,
fln)l=0(gln)) and glrn)=00hin))= fln)=olhin))

4

4

Answer Given:- , Option ID : -1425

Question ID:- 397

g
Consider the following statements about Context Free Lanzuaze (CFL) :

Statement I : CFL 15 closed under homomorphism.

Statement 1T ; CFL is closed under complement.

Which of the following 1s correct?

Options:-
Statement I 15 true and Statement I1 is falze
u ’

Option ID :- 1585,

Statement IT is true and Statement I 1s falze
u 14

Option ID :- 1586,

Both Statement I and Statement II are true
u 4

Option ID :- 1587,

Neither Statement I nor Statement IT 1s true
u ’
Option ID :- 1588,

Statement I 1s true and Statement IT is false

Answer Given:- , Option ID : -1585

Question ID:- 359

The number of nodes of height h 1n any n-element heap i1z atmost:

Options:-




%hé—l
. 2

Option ID :- 1433,

_'}?'I-—l
£
]

4
Option ID :- 1434,

I

E_h
u ’
Option ID :- 1435,
n—1
E-h_l

u ’
Option ID :- 1436,

n
ol

Answer Given:- =, Option ID : -1435

Question ID:- 374

Consider the grammer 3 — ShS|a.
Consider the following statements:
The stiing abababa has

(A) two parse trees

(B) two left most derivations

(C) two right most derivations

Which of the following 1s correct?

Options:-
. Al (A). (B) and (C) are true ]
Option ID :- 1493,
Only (B) 1s true
4
Option ID :- 1494,
Only (C) 12 true
u ’
Option ID :- 1495,
Only (A) 1s true
4
Option ID :- 1496,
Answer Given:- Al (&) (B)and(C)aretrue gptjon ID : -1493

Question ID:- 350

Which mode 1= a block cipher implementation as a self synchronizing stream cipher?

Options:-
. Cipher Block Chaining Mode
4




Option ID :- 1397,
Cipher Feedback Mode

u ’

Option ID :- 1398,
Electromc Codebook Mode

u 4

Option ID :- 1399,
Output Feedback Mode

Option ID :- 1400,

Answer Given:- Cipher Block Chaining Mode option ID : -1397

Question ID:- 339

This transformation 1s called

|

| T | ﬂ"_ E-"-_ {1:_ (_||r] = |

7 a, b, ¢, d, ¥

_: | &1 ] 1'.1_; 1-33 =

W] le f g &l |1]
Options:-

. Scaling

Option II’) :- 1353,

. Shear ,

Option ID :- 1354,
Homography

u ’
Option ID :- 1355,
Steganography

4
Option ID :- 1356,
Answer Given:- Scaling , Option ID : -1353

Question ID:- 335

Pointers cannot be used to

Options:-

find the address of a variable in memory
u ’

Option ID :- 1337,

. reference value directly

Option ID :- 1338,

simulate call by reference
u ’

Option ID :- 1339,

manipulate dvnamic data structure
= 4

Option ID :- 1340,

14




manipulate dynamic data structure

Answer Given:- , Option ID : -1340

Question ID:- 385

Match Last T with List IT:

List I Last IT
(A) Least frequently used (I Memory 1 distributed among processors
(B) Critical Section (II) Page replacement policy in cache memory

(C) Loozely coupled multiproceszor (III) Program section that once begin must
Evatem complete execution before another proceszor
access the same shared resource

(D) Distributed operating system (IV) O/S routines are distmbuted among
organization avallable processors,

Choeose the correct answer from the options given below :

Options:-
(AT (B)-D). (C)-OV). (D)-(I)
Option ID :- 1537,

(£)-(D), (B)-(ID), (C)-(IID), (D)-(IV) ,
Option ID :- 1538,

(A)-(II). (B)-(IIL). (C)-(I). (D)-(IV) ,

Option ID :- 1539,
(A)-(IL). (B)-(I). (C)-(III). (D)-(IV)

| 4
Option ID :- 1540,
Answer Given:- (A)-(IT). (B)-(I1II), (C)-(I), (D)-(IV) , Option ID : -1539

Question ID:- 351

Which one 1s a connectionless transport — layer protocol that belongs to the Internet protocol
famly?

Options:-
. Transmission Control Protocol (TCP)
Option ID :- 1401,

User Datagram Protocol (UDP)

Option ID :- 1402,
Routing Protocol (RP)

u ’

Option ID :- 1403,
Datagram Control Protocol (DCE)

14
Option ID :- 1404,

4

4

Answer Given:- User Datagram Protocol (UDP) - g ution ID : -1402




Question ID:- 342

Fault base testing technique is

Options:-

Unit testing
= 4
Option ID :- 1365,

Beta testing
4

Option ID :- 1366,
Stress testing

I
Option ID :- 1367,

Mutation testing
|

4
Option ID :- 1368,

Mutation testing

Answer Given:- , Option ID : -1368

Question ID:- 331

Consider the following NPDA = H_!j‘.;.- G-9 I[ b} L2}d, g4z '{‘If )
Slag, k2 )=1lgr i 2 )}

dlgg.a; z J={lay, 112 )

dlg,.a, 1)={lg,,111)}

Slgy,b, 1) = f{la;, 1)}

dlgy, 2 2)={la,: 2 )}

Which of the following Language L 15 accepted by NPDA?

Options:-
L= {:.::"b” “H > Cl:

u ’
Option ID :- 1321,

L=a"b"" :n EUI'
. ' ’

Option ID :- 1322,
e - a™b" :n >0

14
Option ID :- 1323,
s - ;:5”-52“ in > 0|

Option ID :- 1324,

L= {u:"b” Ty U:

Answer Given:- , Option ID : -1321

Question ID:- 340

RAD =zoftware procezs model stands for




Options:-
Rapid Application Development
| |

Option ID :- 1357,

Relative Application Development
. ’

Option ID :- 1358,
Rapid Application Design

4

u ’
Option ID :- 1359,
. Recent Application Development
Option ID :- 1360,
Rapid Application Development , Option ID : -1357

4

Answer Given:-

Question ID:- 382

Mateh List I with List I1:

Tist I Tast 11

{A) Localization (I}  Encapsulation

{(B) Packaging or binding of a collection of (II) Abstraction
items

(C) Mechanism that enables designer to (III) Characteristic of zoftware that

focus on essential details of a program indicates the manner 1I1n  which

component. information 18 concentrated 1In
program

(D) Information hiding (IV) Suppressing the operational details of

a program component

Choose the correct answer from the options given helow :

Options:-
o (A0, (B)-(I), (C)-(II). (D)-(IV)
Option ID :- 1525,

(A)-(IT), (B)-(I). (C)-(III), (D)-(IV) ,
Option ID :- 1526,

(A)-(III), (B)~(I), (C)-(II). (D)-(IV) ,

Option ID :- 1527,
(A)-(III), (By-(D), (C)-(IV), (D)~(11)
| | 14

Option ID :- 1528,

Answer Given:' (A)(IID), (B)-(I), (C)-(1I). [.D_}'[.WJ i option ID : _1527

Question ID:- 356

Whach of the following 1s correct for the destination address 4A: 30: 10: 21 :10: 1A?

Options:-

. unicast address
4




Option ID :- 1421,

multicast address
| |

4
Option ID :- 1422,

broadeast address
| |

4
Option ID :- 1423,
unicast and broadecast address
| | 14

Option ID :- 1424,

broadeast address

Answer Given:- , Option ID : -1423

Question ID:- 373

Consider the following related to Fourth Generation Technique (4GT) ¢
(A) It controls efforts.

(By It controls resources.

(Cy It controls cost of develapment.

Choose the correct answer from the options given below :

Options:-
. (A)and (B) only
4

Option ID :- 1489,
(B) and (C) only
4

Option ID :- 1490,
(C) and (A) only

u I4
Option ID :- 1491,
ATl (A), (B) and (C)

u ’
Option ID :- 1492,

ATl (A). (B) and (C)

Answer Given:- , Option ID : -1492

Question ID:- 381

Mateh List T with List 1T :

List I List IT
(A) BCNF (I) It removes multivalued dependency
By 3NF (IT) Itis not alwavs dependency preserving
(C) 2NF (IIT) It removes transitive dependency
(D) 4NF (IV) It removes partial funetional dependency

Choose the correct answer from the options given below:

Options:-
. (A)-(IIT). (B)-(IL), (C)-(IV). (D)-(D)

14




Option ID :- 1521,
(A){IT), (B)-(IV), (Cy-(I), (D-(I1I1)

Option ID :- 1522,
(A)-(IT), (B)-(III), (C)-(TV), (D)-(T)

Option ID :- 1523,
(A)-(IT). (B)-(I). (C)-(IV), (D)-(I11)

. ’
Option ID :- 1524,

4

4

Answer Given:-

Question ID:- 386

Mateh List T with List IT :

List I ListIT
(A) Firmware Iy Number of logical records mnto phyvsical blocks
(B) Batch file (IT) ASCII format
(C) Packing (IIT} Resource allocation

(D) Banker's Algorithm (IV) ROM

Choose the correct answer from the options given below :

Options:-
(A)-(I1), (Bj-(Iy. (C)-(IV), (D)-(I11)

u /4

Option ID :- 1541,
(A)-(II), (B)-(1), (C)-(III), (D)-(IV)

4
Option ID :- 1542,
(A)-(IV), (B)-(11), (Cy-(I), (D)-(111)
] 4
Option ID :- 1543,
(A)-(IV). (B)-(D). (Cy-(1L). (D)-(11D)
u ’
Option ID :- 1544,

. (A)-(IV), (B)-(11}, (C)-(T), (D)-(I1T) .
Answer Given:- , Option ID : -1543

Question ID:- 352

Consider an ervor free 64 kbps satellite channel used to send 512 hyte data frames in one
direction with very short acknowledgements coming back the other way. What 1s the
maximum throughput for window size of 157

Options:-
52 kbps

n ’

Option ID :- 1405,
48 kbps ,




Option ID :- 1406,
64 khps
14
Option ID :- 1407,
70 khps
14
Option ID :- 1408,
Answer Given:- “2XPPS  Option ID : -1405

Question ID:- 404

Given helow are two statements :

Statement I : “Grandparent 1s a parent of one’s parent’,
Statement IT : First Order Predicate Logic (FOPL) reprezentation of above statement 1=
Vo, ¢ grandparent (g, ¢) < 3p parent (g. p) A parent (p. c)

In the hight of the above statements. chooze the most appropriate answer from the options
given below :

Options:-
. Both Statement I and Statement I are correct

Option ID :- 1613,

Both Statement I and Statement I1 are incorrect
| |

Option ID :- 1614,

Statement I 15 correct but Statement I1 1s Incorrect

Option ID :- 1615,

Statement I 1s Incorrect but Statement IT 1= correct
u I4

Option ID :- 1616,

Answer Given:- Both Statement I and Statement II are correct , Option ID : -1613

14

14

14

Question ID:- 380

In reference to Big data. consider the following database :
(A) DMemecached

(B) Couch DB

(C) Infinite graph

Choose the most appropriate answer from the options given below :

Options:-
(A) and (B) only

u ’

Option ID :- 1517,
(B) and (C) only

u ’

Option ID :- 1518,




(C) and (A) only

u ’
Option ID :- 1519,
. (4. (B)and ()
Option ID :- 1520,

Answer Given:- (B and(C)only gution ID : -1518

Question ID:- 366

Let R (ABCDEFGH) be a vrelation schema and F be the set of dependencies
F ={A -5 B,ABCD - E, EF -G, EF — Hand ACDF — EG{. The minimal cover of a set

of functional dependencies 1s

Options:-
A—- B ACD »E,EF —-»G,and EF - H

| |
Option ID :- 1461,
A—-B ACD - E . EF -G, EF —- Hand ACDF -G

Option ID :- 1462,
A—»B ACD - E EF G, EF - Hand ACDF - E

Option ID :- 1463,
34 - B.ABCD— E.EF —» H and EF -G

4

14

Option ID :- 1464,

Answer Given:- A—>BACD - E EF -G, EF - H and ACDF —G , Option ID : -1462

Question ID:- 327

The reduced grammar equivalent to the grammar. whose production rules are given below, is
5 —ABI|CA

B— BC|AB

A—a

C—aBlb

Options:-
S—=CA A—aC—=h

Option ID :- 1305,
S—-CA|B.B—BC|B,A—a C—abB|b

Option ID :- 1306,
S—=CA|IB.B—BC,A—a.C—aB|b

Option ID :- 1307,
S —-AB|AC.BE—-BC|BA.A—a.C—abB|b
u ’
Option ID :- 1308,
S—CAIBBB—BC. A—a.C—ab|b

4

14

Answer Given:-

, Option ID : -1307




Question ID:- 390

Consider the following algorithms and their running times :

Alrorithms Complexities
(A) Breadth First Search (I Blv=E)
(B) HRabin-Karp Algorithm (Il Olv+E)
(C) Depth-First Search (I 8lln—m —1)m )
(D) Heap =ort (worst case) (IV) O[';,:-l)
(E) Quick sort (worst case) (V) O(nlgn)

Which one of the following 15 correct ?

Options:-
. (A ATIL). (B)-(I1). (Cy-(I). (IN-(IV). (E)-(V)

Option ID :- 1557,
(AY-(IT), (B)~(IID), (C)-(I), (D)-(IV). (E)-(V)

4
Option ID :- 1558,
. (A)-(IT), (B)-(IIL), (Cy-(Dy, (Dy-0WV), (EN-(IV)

Option ID :- 1559,
(A)-(IID. (B)-(I). (C)-(ID). (D)-(IV3. (E)-(V)

u ’
Option ID :- 1560,
(A)-(IT). (B)-(III). (Cy-(Dy. (Dy-(Vy. (E)-(IV)

4

14

Answer Given:- , Option ID : -1559

Question ID:- 362

Consider the hash table of size 11 that uses open addressing with linear probing.
Let h{k )=k mod 11 be the hash function. A sequence of records with keys 43, 36, 92. 87, 11,
47, 11, 13, 14 1= mserted Into an 1nitially empty hash table, the bins of which are indexed
from € te 10, What 1s the index of the bin into which the last record 12 inserted?

Options:-

=
e

= ’
Option ID :- 1445,

f
]

4
Option ID :- 1446,
10

n ’

Option ID :- 1447,
4

n ’

Option ID :- 1448,

Answer Given:- ‘' , Option ID : -1446

Question ID:- 319




For multiprocessor system, interconnection network — cross bar switch 1s an example of

Options:-

Non blocking network
u 14

Option ID :- 1273,

Blocking network
n

4
Option ID :- 1274,
» That vares from connection to connection ,

Option ID :- 1275,

Recurrent network
= 14
Option ID :- 1276,

Recurrent network

Answer Given:- , Option ID : -1276

Question ID:- 341

If everv requirement can be checked by a cost — effective process, then SRS 1s called

Options:-
Verifiable
u ’

Option ID :- 1361,
Tracahble

= 14

Option ID :- 1362,
Modifiable

Option ID :- 1363,

Complete
14

Option ID :- 1364,

Verifiable

Answer Given:- , Option ID : -1361

Question ID:- 321

The number of gate inputs, required to realize expression ABC + ABCD +EF +AD is

Options:-
12
' ’

Option ID :
13

1281,

u ’
Option ID :
14

1282,

u ’
Option ID :

15
u ’

Option ID :

1283,

1284,
14
Answer Given:- , Option ID : -1283




Question ID:- 403

Which statement 1s falze?

Options:-
_ Al funection calls in C pass arguments using call by value.
Option ID :- 1609,
Call by reference enables a called function to modify a variable in calling function.
4
Option ID :- 1610,
. Call by value 1z alwavs more efficient than eall by reference.

Option ID :- 1611,

Programmers use pointers and indirection operation to simulate call by reference.
u ’

Option ID :- 1612,
All funection ealls 1n € pass arguments using call by value. , Option ID :

4

14

Answer Given:-
-1609

Question ID:- 383

Match List I with List IT :

List I Last IT
(A) TwvpeO (I) Fiite automata
(B) Twvpel (II) Tuning machine
(C) Type?2 (III} Linear hound automata
(D) Type3 (IV) Pushdown automata

Choose the correct answer from the options given below :

Options:-
(A)-(IIT), (B)-«(IV), (C)(ID. (D)-(D
| | 4

Option ID :- 1529,
(A)-(IT), (B)-(IIT), (C)-(IV). (D)-(I) ,

Option ID :- 1530,
(A)-(III), (B)-(IV), (C)-(T), (D)-(IT)

| | 4
Option ID :- 1531,
(A)-(ID), (B)-(III), (C)-(II), (D}-(IV)

u ’

Option ID :- 1532,
Answer Given:- -I. (B)-(ID. (O)-AWV). (D)}-) option ID : -1530

Question ID:- 320

The representation of 4 bit code 1101 into 7 bit. even parity Hamming code 1s

Options:-




(1010101)

u ’
Option ID :- 1277,
(1111001)

u ’
Option ID :
(1011101)

1278,

Option ID :
(1110000}

u 14
Option ID :- 1280,
(1111001)

1279,

Answer Given:- , Option ID : -1278

Question ID:- 328

Consider the production rules of grammer G:
5 — AbB

A—aAb|i

B—-bB| &

Which of the following language L 18 generated by grammer G?

Options:-

L={G"E:'“ n=0,m :>n.;'
u 14

Option ID :- 1309,
L=@"b":nz0mz= O:

Option ID :- 1310,
¥ _[ npm 1
L=@"b" :nzmj
4
Option ID :- 1311,
DrlL :'I;::"bm Rz mam > EI]
Option ID :- 1312,

Lzﬁﬂ"b’“ nz0,m >n-:'

4

Answer Given:- , Option ID : -1309

Question ID:- 348

Which of the following 1z an indirect measure of product?

Options:-
Quality

14
Option ID :- 1389,
Complexity
4
Option ID :- 1390,
Reliability
= ’
Option ID :- 1391,




All of these

u ’
Option ID :- 1392,

All of th
Answer Given:- " Option ID : -1392

Question ID:- 322

Conzider a logic gate circuit, with 8 input lines (Do, Dy ..... D7) and 3 output lines (An. Az As)

specified by following operations

Where + indicates logical OR operation. Thiz circult is

Options:-

3« 8 multiplexer
| |

4
Option ID :- 1285,

Decimal to BCD econverter
u ’

Option ID :- 1286,

Octal to Binary encoder
. ’

Option ID :- 1287,
Priority encoder

u ’

Option ID :- 1288,

Octal to Binary encoder

Answer Given:- , Option ID : -1287

Question ID:- 333

Using ‘RSA’ algorithm. if p = 13. g = 5 and e = 7. the value of d and cipher value of ‘6" with
(e, n) key are

Options:-
T4

u /4

Option ID :- 1329,
1,1

n ’

Option ID :- 1330,
T.46

= ’

Option ID :- 1331,
55, 1

n ’

Option ID :- 1332,

Answer Given:- Uyl , Option ID : -1330

Question ID:- 375




In a game playing search tree, upto which depth ¢ — [ pruning can be applied?

(A) Root (0) level

(B) 6level

(C) Slevel

(D)) Depends on utility value in a breadth first order

Choose the correct answer from the options given below :

Options:-
(B) and (C) only

| | 4

Option ID :- 1497,
(A) and (B) only

| | 4

Option ID :- 1498,
(A), (B) and (C) only

| | 4

Option ID :- 1499,
(4) and (D) only

14
Option ID :- 1500,

(4) and (D) only

Answer Given:- , Option ID : -1500

Question ID:- 355

A 4-stage pipeline has the stage delay as 150,120.160 and 140 ns respectively. Registers
that are used between the stages have delay of 5 ns. Assuming constant locking rate. the
total time required to process 1000 data items on this pipeline 1=

Options:-

. 160.5 ms i

Option ID :- 1417,
. 165.5 ms ,

Option ID :- 1418,

120.5 ms

4
Option ID :- 1419,
590.5 ms

14
Option ID :- 1420,
Answer Given:- 165%5ms ogption ID : -1418

Question ID:- 345

Size and complexity are a part of

Options:-
People Metrics
|

4
Option ID :- 1377,




Project Metrics
4
Option ID :- 1378,

Process Metries
u 14
Option ID :- 1379,

Produet Metrics
| |

4
Option ID :- 1380,

Process Metrics

Answer Given:- , Option ID : -1379

Question ID:- 329

: {
Consider the language L=a"b" :nz4.m< 13}

Which of the followine regular expression represents language L7

Options:-
. aaaa®*(/. + b+ bb + bbh)

Option ID :- 1313,
aaaaa®(b + bh + bbb)
14

Option ID :- 1314,
aaaaa*(}). +b+ bbb+ bbh)

u ’
Option ID :- 1315,
aaaa*(b + bh + bbh)
u 4
Option ID :- 1316,
aaaaa*(. + b+ bb+ bbh)

14

Answer Given:- , Option ID : -1315

Question ID:- 326

The logie expression {..ﬁ £Q v I|P nQ v (P AQ) 12 equivalent to

Options:-
_F_’VQ

u ’

Option ID :
P va

u 14

Option ID :
Pvg

1301,

1302,

4
Option ID :

Pv@
Option ID :

1303,

1304,

. Pvg -
Answer Given:- , Option ID : -1303

Question ID:- 332




Hidden surface removal problem with minimal 3D pipeline can be zsolved with

Options:-

. Painter's alzorithm
4

Option ID :- 1325,
Window Clipping algorithm

| | 4
Option ID :- 1326,

Brute force rasterization algorithm
n ’

Option ID :- 1327,
Flood fill algorithm

4
Option ID :- 1328,
Answer Given:- Fainter'salgorithm Option ID : -1325

Question ID:- 388

Mateh List T with List IT :

ListI List II

(A) BIND (T)  Block the caller until a connection attempt arrives
By LISTEN (I} Give a local address to a socket

(C) ACCEPT (ITI) Show willingness to accept connections

Dy SOCEKET (IV) Create a new point

Choose the correct answer from the options given below :

Options:-
(A)-(T}. (B)-(IIT), (C)-(I1), (D)-(IV)

u ’

Option ID :- 1549,
. (A (ID), (B)-(IIL), (Cy-(Iy, (DI-(IN)

Option ID :- 1550,
(A)-(TII). (B)-(IL), (C)-(I), (D)-(IV)

Option ID :- 1551,
(A)-(D), (B)-(ILy. (C)-(III), (D)-(IV)

u ’
Option ID :- 1552,
(A)-(IT), (BI-(IIT), (C)-(Ty, (Dy-(IV) , Option ID : -1550

14

Answer Given:-

Question ID:- 378




Consider the following graph :

For the graph: the following sequences of depth first search (DFS) ave given

(A) abcghf
(B) abfchg
(C) abfhge
(D) afghbe

Which of the following 1z correct?

Options:-
. (A), (B) and (D) only

Option ID :- 1509,
A), (B). (C) and (D)

14

Option ID :- 1510,
(B). (C) and (D) only

Option ID :- 1511,
(A), (C) and (D) only

u 4
Option ID :- 1512,

Ay (C d (D) only .
Answer Given:- A , Option ID : -1512

14

14

Question ID:- 393

Consider the following statements:

Statement 1 : Conservative 2 PL 1s a deadlock-free protocol.
Statement I : Thomas's write rule enforces conflict serializability.
Statement II1: Timestamp ordering protocol ensures serializability based on the order of

transaction timestamps.

Which of the following 1s correct?

Options:-

Statement 1. Statement IT true and Statement IT1 false
u 4




Option ID :- 1569,

Statement I, Statement ITI true and Statement 11 false
u 14

Option ID :- 1570,

Statement I, Statement II false and Statement 111 true
u 14

Option ID :- 1571,

Statement 1. Statement IT and Statement II1 true
u 4

Option ID :- 1572,

. Statement I, Statement II and Statement II1 true .
Answer Given:- , Option ID : -1572

Question ID:- 392
Consider the following statements of approximation algorithm :

Statement I : Vertex-cover 1= a polynomial time 2-approximation algorithm.

Statement I ; TSP-tour 15 a polynomial time 3-approximation alsorithm for travelling

zalesman problem with the tmangle ineguality.
Which of the following is correct?

Options:-

Statement I true and Statement II falzse
u V4

Option ID :- 1565,

Statement I and Statement I true
| 4
Option ID :- 1566,

Statement I false and Statement I true
u V4

Option ID :- 1567,

Statement I and Statement IT false
u ’

Option ID :- 1568,
Statement I and Statement II true

Answer Given:- , Option ID : -1566

Question ID:- 398

Conzider the following in Boolean Alpebra
X:avibalave))=lavb)rlave)
Y:anlbvlancel)=lanb)vanrc)

av (b re)=(avb)sc is satisfied if

Options:-

¥ is true
u ’




Option ID :- 1589,
¥ 1s true ,

Option ID :- 1590,
Both X and Y ave true

Option ID :- 1591,

It doez not depend on X and Y
u 14

Option ID :- 1592,
Answer Given;- CothXandYaretrue qotion Ip : -1591

14

Question ID:- 361
Which of the following algorithm design approach i1s used in Quick sort algorithm?

Options:-

Dyvnamic programming
u ’

Option ID :- 1441,
Back Tracking ,

Option ID :- 1442,

Divide and conguer
u ’

Option ID :- 1443,
Gresdy approach

u ’
Option ID :- 1444,

Divide and conguer

Answer Given:- , Option ID : -1443

Question ID:- 391

Consider the following:

List I List IT
(A) Stack algorithm (I}  Deadlock
(B) Elevator algorithm (IT) Dizsk scheduling
(C)  Priority scheduling algorithm (III) Page replacement
(D) Havender's algorthm (IV) CPU scheduling

Which of the following iz correct matching?

Options:-
. (A)-(IITy, (B)-(I1}, (Cy-(IV), (D)-(D)

Option ID :- 1561,
(A)-(1I). (B)-(IIL), (C)-(IV). (D)-(I)

n
Option ID :- 1562,
(A)-(IID). (B)-(ID), (C)-(D), (D)-(IV)

u 14

Option ID :- 1563,

14

4




(A)-(IT), (B)-(TI1). (Cr(D. (D)-IV)
[ ] 4

Option ID :- 1564,
Answer Given:- &I (Bi«ID). (C)-(IV). (D)D) , Option ID : -1561

Question ID:- 377

Let (ja.b}.#) be a semigroup, where a*a =b.
(A) a=*b=>b=*a
(B) b=b=b

Choose the most appropmate answer from the options given below :

L

Options:-
(A) only true
u ’
Option ID :- 1505,
(B) only true
4

Option ID :- 1506,
Both (A) and (B) true
u ’

Option ID :- 1507,
Neither (A) nor (B) true ,

Option ID :- 1508,
Answer Given:- Poth(4)and (B) true gution ID : -1507

Question ID:- 394

Consider the following statements:

Statement I : Composite attributes cannot be divided 1nto smaller subparts.

Statement II : Complex attribute iz formed by nesting composite attributes and multi-

ralued attrbutes 1n an arbitrary way.

Statement IIT: A dertved attribute 1z an attribute whose values are computed from other

attribute.

Which of the following is correct?

Options:-
Statement 1. Statement 11 and Statement III are true
u V4
Option ID :- 1573,
Statement I true and Statement II, Statement 111 false
u ’

Option ID :- 1574,




Statement 1. Statement IT true and Statement II1 false
u 4

Option ID :- 1575,

Statement I false and Statement I1, Statement III true
u 14

Option ID :- 1576,

Statement I false and Statement I, Statement III true

Answer Given:- , Option ID : -1576

Question ID:- 334

The condition num! = 65 cannot be replaced by

Options:-

. aum = 65 | | num = 65

Option ID :- 1333,
! {num == 65)
4
Option ID :- 1334,
num — 65
u I4
Option ID :- 1335,

' {num — G3)

4

= ’
Option ID :- 1336,

num — 65

Answer Given:- , Option ID : -1335

Question ID:- 376

Consider o.p.7 as logieal variables. Identify which of the following represents correct logical
equivalence :

(A (aaBvr))=(oaB)v(eay))

(B) (avBl=—uvp
€ (o=pl=(-P=—u)
@) (Hevpl=l-a=—f)

Choose the correct answer from the options given helow :

Options:-

. (A) and (I) only i

Option ID :- 1501,
(B) and (C) only ,

Option ID :- 1502,
{A) and (C) only

u 4
Option ID :- 1503,
(B) and (D) only

n ’
Option ID :- 1504,

iA) and (C) only

Answer Given:- , Option ID : -1503




Question ID:- 384

Mateh List I with List IT :

Tast I List IT
(A) Ontological Engineering (I) Organizing subclass relations
(B) Taxonomy Hierarchy (II) Organizing knowledge Into category and
sub category
(C) Inheritancs (IIT) Attaches a number with each poszibility
(D) Probability mode (IV) Representing concepts. events, time.

physical concepts of different domains

Choose the correct answer from the options ziven helow :

Options:-
(A)-(I1), (B)-(Iy. (C)-(IV), (Dy-(IIT)

.
Option ID :- 1533, ’

(A)-(D), (B)-(IT), (Cy-(IIT), (D)-(IV) ,
Option ID :- 1534,

(A)-(IV), (B)-(I1T), (C)-(L), (I-(1L) ,
Option ID :- 1535,

(A)-(IV). (B)-(I), (C)-(1L), (D)-(I1T)

Option ID :- 1536,

. A)-(IV). (By(D). (C)-(ID). (D)~ .
Answer Given:- ¢ ? i , Option ID : -1536

Question ID:- 369

A magnetic tape drive has transport spead of 200 inches per second and a recording density
of 1600 byvtez per inch. The time required to write 600000 bytes of data grouped in 100
characters record with a blocking factor 10 1s

Options:-
20625 sec
u I4

Option ID :- 1473,

2.62561 zec
u ’
Option ID :- 1474,

2.0062 sec
u ’
Option ID :- 1475,

26150 =zec
= 4
Option ID :- 1476,

. 2.0062 sec .

Answer Given:- , Option ID : -1475

Question ID:- 396




Conszider the following statements:

Statement I : LALR parser 1s more powerful than canonical LR Parser.
Statement 11 : SLR parser 1= more powerful than LALR

Which of the following 1s correct?

Options:-

Statement I true and Statement 11 falzse
u ’

Option ID :- 1581,

Statement I false and Statement I true
u 4

Option ID :- 1582,
Both Statement I and Statement 11 falze

Option ID :- 1583,

Both Statement [ and Statement 11 true
u ’

Option ID :- 1584,

- o ——‘{-I.'i. o S -' o I -
Answer Given:- Both Statement I and Statement 11 falze , Option ID : -1583

4

Question ID:- 349

Modules X and Y operate on the same input and cutput. then the cohesion 1s

Options:-

. Logical coheszion

14
Option ID :- 1393,

Sequential cohesion
n

Option ID :- 1394,

Procedural eohesion
u ’

Option ID :- 1395,

Communicational eohesion
u I4

Option ID :- 1396,

Communicational cohesion

Answer Given:- , Option ID : -1396

14

Question ID:- 401
Of the following, which 1z NOT a logical error?

Options:-
. Using the =", instead of ' = = to determine if two values are equal
Option ID :- 1601,

. Divide by zero

14

4




Option ID :- 1602,
. Failing to initialize counter and total variables before the body of loop
4

Option ID :- 1603,

Using commas instead of two required semicolon in a for loop header
u ’

Option ID :- 1604,
Answer Given:- DVidebyzero  gution ID : -1602

Question ID:- 318

Consider a memory system having address spaced at a distance of m. T = Bank cyvcle time
and n number of banks, then the average data access time per word access In synchronous
organization is

Options:-
|m.—f0rm <<t
= i
‘_I form >=n

= ’
Option ID :- 1269,
Di‘! _ J% formr<<mn

I Tlorm =>n
| | * ¥4

Option ID :- 1270,
L}t .|"m-.T form << n

B |T form >>n
14

Option ID :- 1271,

\»} [m.T form<<n

b= 1‘ ”%; form s>n
Option ID :- 1272,

L&t _ [m.T form <<n
T form>>n

Answer Given:- , Option ID : -1271

4

Question ID:- 364

How many rotations are required during the construction of an AVL tree if the following
elements are to be added 1n the given zeguence?

54, 80, 40, 25, 30, 60, 75, 20, 28

Options:-

2 left rotations. 2 right rotations
u ’

Option ID :- 1453,
. 2 left rotations. 3 right rotations
Option ID :- 1454,

3 left rotations. 2 right rotations

14




Option ID :- 1455,

3 left rotations, 1 right rotation
n /4
Option ID :- 1456,

Answer Given:- 2 left votations, 3 right rotations , Option ID : -1454

Question ID:- 405

Given below are two statements :

Statement I: Consider 20 bit ‘Branch’ microinstruction code formart given below:

3 3 3 2 2 T

F1 | F2|F3|CD ) BR |AD

Fl. F2. F3 : Micro-operation fields
CD : Condition for branching

ER : Branch field

AD : Address field

Statement IT ; Instruction represented 1n above formar can perform branch in
4 conditions.

In the light of the above statements. choose the most appropriate answer from the options
given helow :

Options:-

. Both Statement I and Statement II are correct

Option ID :- 1617,

Both Statement I and Statement II are incorrect
u I4

Option ID :- 1618,

Statement I 15 correct but Statement I is incorrect

Option ID :- 1619,

Statement I 1s incorrect but Statement IT 1s correct
u I

Option ID :- 1620,

14

14

Answer Given:- Both Statement I and Statement II are correct , Option ID : -1617

Question ID:- 389




Match List I with List IT :

Last 1 Laist 11
(A) Phyvsical laver (I} Routing of the signals divide the outgoing message into
packets. to act as network controller for routing data
(B) Data link laver (I} M=ake and break connections. define voltages and data

rates, convert data bits into electreal signal

(C) Network layer (III) Swynchronmization, error detection and correction. To
assemble outgolng message 1nto frames.

(D) Presentation laver (IV) It works as a translating laver

Choose the correct answer from the options given below :

Options:-
. (A)-(IV). (B)-(I1L), (C)-(II3. (D)-(I) ]

Option ID :- 1553,
(A)-(I1), (B)-(I1I), (C)-(IV), (Dy-(I) ,

Option ID :- 1554,
(A)-(IV), (B)-(III), (C)-(I), (D)~(IT) ,

Option ID :- 1555,

(A)-(ID), (B)-(IIT), (Ci~(I), (D)-(IV)
u ’
Option ID :- 1556,

(A)-(ID), (B)-(IID), (C)~(I), (D)-(IV)

Answer Given:- , Option ID : -1556

Question ID:- 337

If an operating svstem does not allow a child process to exist when the parent process has
been terminated. this phenomenon 1s called as -

Options:-
Threading
n ’

Option ID :- 1345,

Cascading termination
u ’
Option ID :- 1346,
Zomhbie termination
. ’
Option ID :- 1347,
Process knlling
= 14
Option ID :- 1348,

Zombie termination

Answer Given:- , Option ID : -1347

Question ID:- 336

Which mechanism in XML allows organizations to specify globally unique names as element
tags in documents?




Options:-

1001
| |

4
Option ID :- 1341,

header
4

Option ID :- 1342,

schenia

Option ID :- 1343,

namespace
]

4
Option ID :- 1344,

namespace

Answer Given:- , Option ID : -1344

Question ID:- 363

Conzider the traversal of a tree
Preorvder — ABCEIFJDGHEL
Inorder — EICFIJBGDEHLA

Which of the following 1s correct post order traversal?

Options:-
EIFJCEGLHDEA

4
Option ID :- 1449,
FCGELHDEUAE

4
Option ID :- 1450,
FCGELHDEBAEILT

Option ID :- 1451,’
IEJFCGELHDEBA ,
Option ID :- 1452,
Answer Given:- [EJFCGELHDBA , Option ID : -1452

Question ID:- 316

In a database. a rule 1z defined as (P1 and P2) or P37 R1 (0.8) and R2 (0.3), where P1, P2, P3
are premises and R1. R2 are conclusions of rules with certainty factors (CF) 0.8 and
(.3 respectively. If any running program has produced P1, P2. P53 with CF as 0.5. 0.8,
0.2 respectively, find the CF of regultz on the basis of premises,

Options:-

_ CF(R1=0.8), CF (R2=10.3)
Option ID :- 1261,

. CF (R1=040), CF(R2=0.15)

Option ID :- 1262,
CF(R1=0.15). CF(R2=0.35)

u ’

Option ID :- 1263,

4

14




CF (R1=0.8). CF (R2 =0.35)

u ’

Option ID :- 1264,

: = 5). CF (R2=0.35 .
Answer Given:- O R1=019. CE®Z=039 g 4ion 1D : -1263

Question ID:- 387

Mateh List T with List IT :

TistI List IT
(A) DES (I) Kevsize - 256
(B)y AES (II) Key =size - 1024
(C) 3DES (ITII) Key size - 56
(D) RSA (IV) Key size - 168

Choose the correct answer from the options given below :

Options:-
(A)-(I), (B)-(I1), (C)-(IV). (D)-(11D

Option ID :- 1545,
(A)-(IID). (By-(D). (C)-(IV), (D)-(1T)

4
Option ID :- 1546,
(A)-(ITT), (B)-(IV), (C)-(IL), (D)-(I)

u ’

Option ID :- 1547,
{(A0-(TV). (B)-(I1). (C)(I1I1). (D)-(T)

u ’
Option ID :- 1548,
(AY-(ITT), (By-(I). (C)-(IV). (D)-(11}

14

Answer Given:- , Option ID : -1546

Question ID:- 346

Which Metrics are derived by normalizing quality and/or productivity measures by
considering the size of the software that has been produced?

Options:-
Funetion — Oriented Metrics
| |

Option ID :- 1381,
Funetion — Point Metrics
u 14
Option ID :- 1382,
Line of Code Metrics

u I

Option ID :- 1383,
Size Oriented Metrics

u 4

Option ID :- 1384,

Funection — Point Metrics

Answer Given:- , Option ID : -1382

14




Question ID:- 354

Which laver divides each message mto packets at the source and re-aszembhles them at the
destination?

Options:-

Network layer
| |

4
Option ID :- 1413,

Transport layver

14
Option ID :- 1414,
Data hink laver

u ’
Option ID :- 1415,
Physical laver

4
Option ID :- 1416,

Answer Given:- Ansportlaver o ovion 1D -1414

Question ID:- 343

Alpha and Beta testing are forms of

Options:-
. White — Box Testing
4

Option ID :- 1369,
Black — Box Testing

= 14
Option ID :- 1370,

Aceceptance Testing
= 4

Option ID :- 1371,

System Testing
| |

4
Option ID :- 1372,

Ageeptance Testing

Answer Given:- , Option ID : -1371

Question ID:- 353

A claszless address 1s given a= 167.199.170.82/27. The number of addresses in the network 1z

Options:-

, 04 addresses ]

Option ID :- 1409,
32 addresses ,

Option ID :- 1410,
28 addreszes

14
Option ID :- 1411,




30 addresses
u ’
Option ID :- 1412,
Answer Given:- 32addresset  gption ID : -1410

Question ID:- 324

In a cache memory, if address has 9 bits 1n Tag field and 12 bits 1n index field, the size of

main memory and cache memory would be respectively

Options:-
ZE. 1K

4
Option ID :- 1293,
1024 K 2K

4
Option ID :- 1294,
4K 2045 K
n ’
Option ID :- 1295,
2045 K. 4 K

4

Option ID :- 1296,

) 4K 2048 K .
Answer Given:- , Option ID : -1295

Question ID:- 347

The model 1n which the requirements are implemented by 1ts category is

Options:-

Evolutionary Development Model

Option ID :- 1385,
. Waterfall Model

4
Option ID :- 1386,
Prototyping Model
u 14
Option ID :- 1387,
Iterative Enhancement Model
u I4
Option ID :- 1388,

. Iterative Enhance t Model .
Answer Given:- ¢ SRR , Option ID : -1388

14

Question ID:- 358

The solution of the recunrence relation T'(n)=37T |% }— nlgmn 1=

Options:-
Blnllgn J

u ’

Option ID :- 1429,




Bnizgn)

. 14
Option ID :- 1430,
Binlen ]:

u /4

Option ID :- 1431,
Binlglen)

u ’
Option ID :- 1432,

Binlen F
Answer Given:- , Option ID : -1431

Question ID:- 344

The process to gather the software requirements from client. analyze and document 1s known
as -

Options:-

Software Engineering Process
. 4

Option ID :- 1373,
User Engineering Process
14
Option ID :- 1374,
Requirement Elicitation Process

| |

Option ID :- 1375,
Requirement Engineering Process

| | 14

Option ID :- 1376,

Requirement Elicitation Process

4

Answer Given:- , Option ID : -1375

Question ID:- 367

A trgger 18

Options:-
, A statement that enables to start DBMS, ,

Option ID :- 1465,

A statement that 1= executed by the user when debugging an application program.
. ’

Option ID :- 1466,

. A condition the svetem tests for the validity of the database user.
14

Option ID :- 1467,
A statement that 1s executed automatically by the system as a side effect of
. modification to the database.

Option ID :- 1468,
Answer Given:-

A statement that 1s executed automatically by the system as a side effect of
modification to the database. , Option ID

: -1468




Question ID:- 360

Consider a B-tree of height h. minimum degree t = 2 that contains anyv n-kev, where n = 1.
Which of the following is correct?

Options:-
n+1
2

hzlog,
' ’
Option ID :- 1437,
n+l

9

h <log,

u I4
Option ID :- 1438,
n—1

9

hzlog;
|

4
Option ID :- 1439,

h <log, n;l

4
Option ID :- 1440,
n—1

h=log; —
Answer Given:- -, Option ID : -1439

Question ID:- 330

Consider L = {ab. aa, baa}

Which of the following string 1= NOT 1n L#?

Options:-
baaasahaaaza

u ’

Option ID :- 1317,

abasbaaabas
| |

4
Option ID :- 1318,

aaaabaaaa

Option ID :- 1319,
baazaaabaa

Option ID :- 1320,

Answer Given:- P22aaabaaaaa  option ID : -1317

Subject : 87_PART_B_Setl

Question ID:- 409




Read the following and Answer the questions:

Conzider the relational schema of sailers S, Reserves R and Boatz B,

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | davy
22 | Dustin 45.0 22 | 101 | 1G/10/88
289 | Brutus 33.0 22 1102 | 10/10/88

T
it
31 | Lubber 8
8

B3.5 22 | 103 | 10/5/98
32 | Andy 25.5 22 | 104 | 1O/7/98
58 | Rusty 10 35.0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98

71 Zorba 10

=
[=x}
o]

[nea]

—

104 | 11/12/88

T4 | Horatio 35.0 64 | 101 | 9/5/98
83 Art 25.5 64 | 102 | 9/8/08
a3 Boh 63.5 74 | 103 | 9/8/98

Table 3 : Boatzs B

Bid | Bname Color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper creen
104 | Marine red

Which of the following relational algebra querv computes the names of sailor who have

rezerved all boats?

Options:-

_ P (Tempsids, ( mrig Reserves) / mwa Boats) 7 mame ((Tempsids) r Sailors)

Option ID :- 1633,

4

p (Tempsids, ( w4 vid Reserves) / mwd Boats) 7 saame ((Tempsids) 1 Sailors)

Option ID :- 1634,

p (Tempsids, (zs Satlors) [ mria Boats) 7 mame ((Tempzids) 1 Sailors)
| |

Option ID :- 1635,

p (Tempsids. ( 7sa Reserves) / mwria Boats) mamame ((Tempsids) > Boats)

Option ID :- 1636,

Answer Given:-
Option ID : -1634

14

14

p (Tempsids, ( m=d rid Reserves) / nmd Boats) 7 eame ((Tempaids) 1 Sailorz)

4

Question ID:- 407




Read the following and Answer the questions:

Conzider the relational schema of sailers S, Reserves R and Boatz B,

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | davy
22 | Dustin 45.0 22 | 101 | 1G/10/88
289 | Brutus 33.0 22 1102 | 10/10/88

T
it
31 | Lubber 8
8

B5.5 22 | 103 | 10/5/98
32 | Andy 25.5 22 | 104 | 1O/7/98
58 | Rusty 10 35.0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98

71 Zorba 10

=
[=x}
o]

[nea]

—

104 | 11/12/88

T4 | Horatio 35.0 64 | 101 | 9/5/98
83 Art 25.5 64 | 102 | 9/8/08
a3 Boh 63.5 74 | 103 | 9/8/98

Table 3 : Boatzs B

Bid | Bname Color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper creen
104 | Marine red

Which of the following relational algebra query/queries computes/compute the names of zailors whe
have reserved a red hoat?

Q1 7 omame (( 8 coior = ved Boats) 1 Reserves 1 Sailors)
Q2 Wemame ( Wad (( Trid O eolor = req’ Boats) <1 Reserves ) < Sailors)

Q3 T ename (( 8 cotor = ved Reserves) Boats M1 S8ailors)

Options:-
Both Q1 and Q2

14
Option ID :- 1625,
Both Q2 and Q3

u 4

Option ID :- 1626,
Only Q1

u ’

Option ID :- 1627,
Only Q2

4
Option ID :- 1628,

Both Q1 and Q2

Answer Given:- , Option ID : -1625




Question ID:- 406

Read the following and Answer the gquestions:

Conzider the relational schema of sailers S, Reserves R and Boatz B,

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | dav
22 | Dustin 7 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 | 102 | 10/10/88
31 | Lubhber 8 b5.b 22 | 103 | 10/8/98
32 Andy 8 25.5 22 | 104 | 1047798
58 | Rusty 10 35.0 31 | 102 | 11/10/98
G4 | Horatio T 35.0 31 | 103 | 11/6/98
71 | Zorba 10 16.0 31 | 104 | 11/12/98
74 | Horatio 35.0 64 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
93 Bob 63.5 74 | 103 | 9/8/98

Table 3 : Boatzs B

Bid | Bname Color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper sreen
104 | Marine red

Which of the following relational algebra querv computes the Sid’s of sailors with age over 20
who have not rezerved a red boat?

Options:-

T sid (8 age - 20 Sailors) — maid ({8 color = 1ed Boats) 1 Rezerves t=1Sailors)
= ’
Option ID :- 1621,

T zia (( O eolor= wed” A age - o0 (Boats b1 Sailors r~Reserves)))
= 4

Option ID :- 1622,

T <id { O age =20 Sailors) — meia (6 ector'=red’ Boats) 1 Reserves 1 Sailors)

Option ID :- 1623,
70 sid (O age =20 Sailors) A wed (3 clor=red Boats) = Reserves p=1 Sailors)
u ’

Option ID :- 1624,

. Tsig (8 age - 20 Sallors) — s ((8 color = 12 Boats) »1 Reserves 1 Sailora)
Answer Given:- e

Option ID : -1621

14

Question ID:- 408




Read the following and Answer the questions:

Conzider the relational schema of sailers S, Reserves R and Boatz B,

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | davy
22 | Dustin 45.0 22 | 101 | 1G/10/88
289 | Brutus 33.0 22 1102 | 10/10/88

T
it
31 | Lubber 8
8

B3.5 22 | 103 | 10/5/98
32 | Andy 25.5 22 | 104 | 1O/7/98
58 | Rusty 10 35.0 31 | 102 | 11/10/98
G4 | Horatio 7 35.0 31 | 103 | 11/6/98

71 Zorba 10

=
[=x}
o]

[nea]

—

104 | 11/12/88

T4 | Horatio 35.0 64 | 101 | 9/5/98
83 Art 25.5 64 | 102 | 9/8/08
a3 Boh 63.5 74 | 103 | 9/8/98

Table 3 : Boatzs B

Bid | Bname Color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper creen
104 | Marine red

Which of the following relational algebra queryv/queries computes/compute the name of
sailors who have reserved boat 1037

Q1 7 cname (( O wid =103 Boats) r=1 Sailors)
Q2 7 sname (O wa =103 (Reservea < Sailors))

Q3 7 ename (( Dvia=102 Reserves ) P Sailors)

Options:-
Both Q1 and Q3
u ’

Option ID :- 1629,
Both Q2 and Q3

4
Option ID :- 1630,

Only Q3
u ’
Option ID :- 1631,
Only Q2

4

Option ID :- 1632,

Both @2 and @3

Answer Given:- , Option ID : -1630




Question ID:- 410

Read the following and Answer the gquestions:

Conzider the relational schema of sailers S, Reserves R and Boatz B,

Table 1 : Sailors S Table 2 : Reserves R
Sid | Sname | Ratting | Age Sid | Bid | dav
22 | Dustin 7 45.0 22 | 101 | 10/10/98
29 | Brutus 1 33.0 22 | 102 | 10/10/88
31 | Lubhber 8 b5.b 22 | 103 | 10/8/98
32 | Andy 8 25.5 22 | 104 | 1/7/98
58 | Rusty 10 35.0 31 | 102 | 11/10/98
G4 | Horatio T 35.0 31 | 103 | 11/6/98
71 | Zorba 10 16.0 31 | 104 | 11/12/98
74 | Horatio 35.0 64 | 101 | 9/5/98
85 Art 25.5 64 | 102 | 9/8/98
93 Bob 63.5 74 | 103 | 9/8/98

Table 3 : Boatzs B

Bid | Bname Color
101 | Interlake | blue
102 | Interlake | red
103 | Clipper sreen
104 | Marine red

Which of the following relational algebra guery computes the names of sailorz who have
rezerved & red and a green hoai?

Options:-
p (Tempred. 7ad ((8color = 1ed Boate) > Reserves)). p (Tempgreen, mwsa ({0 color = ‘green’
Boatz) = Reserves)). T emame (Tempred ~ Tempgreen) r=1 Sailors

| |

Option ID :- 1637,
p (Temphoats 2. (§coior = wed Boats) — (8 color = ‘meen Boats)) 7 ename (Tempboats 2
Rezerves)

| |

Option ID :- 1638,

T ename ((Bcoler = red Boats) v (Scoler = ‘green Boats) (Temphboats 2 01 Sailors ==

Heserves))
| |

Option ID :- 1639,

p (Tempboate 2. (5 color = ‘red * color ='green’ BOALS) T ename (Temphoats 2 t~1 Sailors)

Option ID :- 1640,
Answer Given:-




p (Tempred. 7 ad (( §coor = r=a Boats) <1 Reserves)). p (Tempgreen. msia ((8 color = green
Boata) 0= Reservesa)), Tmame{Tempred — Tempgreen) i~ Sailors , Option ID

: -1637

Subject : 87_PART_C_Set1
Question ID:- 413

Based on the following pazsage, answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and 1z used to transmit 64 bytes frames and
uses shiding window protocol. The propagation speed 12 6 1 2ec/lim.

The sender window size to get the maximum efficlency 1=

Options:-
108

u ’

Option ID :- 1649,
109 ,
Option ID :- 1650,

25
| |

4
Option ID :- 1651,
5
14
Option ID :- 1652,

o

Answer Given:- °~ , Option ID : -1651

Question ID:- 415

Based on the following pazsage, answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and 1= used to transnuit 64 bytes frames and
uses sliding window protocol. The propagation speed 1s 6 u sec/km.

The maximum achievable throughput is

Options:-
. 0.768

4
Option ID :- 1657,
0.678

4
Option ID :- 1658,
0.901

u ’
Option ID :- 1659,
0.887

4
Option ID :- 1660,
. 0.901 .
Answer Given:- , Option ID : -1659




Question ID:- 411

Based on the following passage, answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and 18 used to transnut 64 bytes frames and
uses sliding window protocol. The propagation speed 18 6 u sec/km.

The transmis=ion and propagation delavs are respectively

Options:-
T = 3533.33 nsec, Te= 15000 | =ec

= ’
Option ID :- 1641,

T: = 300 psec, Te= 15360 W sec
" I/

Option ID :- 1642,
Te=33.33 psec, Tp = 1800 psec

u ’
Option ID :- 1643,

T: = 1300 psec. Tp=33.33 usec
u ’

Option ID :- 1644,

. Te=33.33 pizec, Tp = 1800 psec .
Answer Given:- , Option ID : -1643

Question ID:- 414

Based on the following passage, answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and 18 used to transnut 64 bytes frames and
uses sliding window protocol. The propagation speed 18 6 u sec/km.

If only 6 bits are reserved for sequence number field. then the efficiency of the system 1s

Options:-

. 0587

Option ID :- 1653,
0.875

4
Option ID :- 1654,
0.573

4
Option ID :- 1655,

0.50
14
Option ID :- 1656,
. 0.578 .
Answer Given:- , Option ID : -1655

Question ID:- 412




Based on the following pazsage, answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and 1z used to transmit 64 bytes frames and
uses shiding window protocol. The propagation speed 12 6 1 2ec/lim.

The minimum number of bits required 1n the sequence number field of the packet 12

Options:-
6 bits

u ’

Option ID :- 1645,
7 hits

. ’

Option ID :- 1646,
5 bits

u 4

Option ID :- 1647,
4 bits

u 4
Option ID :- 1648,

o bits

Answer Given:- , Option ID : -1647




